6. Problem Ne8: Electrostatics

Solution of Croatia

Problem Ne8: Electrostatics

Josko Jelicict, Marin Lukas', Milan Markovi¢?, Damjan Pelc?, Ivan Sudic!
"'V. Gimnazija, Klaiceva 1, 10000 Zagreb, Croatia
Zxv. Gimnazija, Jordanovac 8, 10000 Zagreb, Croatia

The Problem:
Propose and make a device for measuring the charge density on a plastic ruler after it has
been rubbed with a cloth.

Abstract

We present a computer numerically controlled surface charge density analyzer for
measuring mono-layer surface charges in medium resolution on dielectric surfaces. The
device is based on a solid state FET electrometer coupled with an optically referenced
electrostatic mill enabling accurate phase-locked measurements. The scanning and control are
obtained with a two-dimensional computer controlled discrete step transator capable of
delivering up to 20 steps per second. The device was demonstrated in a measurement of the
surface charge density on a plastic ruler rubbed with a cotton cloth.

1. Introduction.

The problem of non - contact charge measurement on different dielectrics is of greatest
interest nowadays. From microscopic applications to atmospheric electricity recording, charge
detectors of various designs are implemented. In this article we will discuss the construction
of such a device, intended for measurements in the medium resolution range (that is, neither
atomic — scale nor large charge structures like atmospheric electricity), intended for
measuring the charge density of a flat charge monolayer on a dielectric surface. We will
demonstrate its action in a measurement of the charge accumulated on a plastic ruler rubbed
with a cloth, a system being very favorable for testing the device resolution and precision due
to large charge gradients on a small surface area. But before we proceed to the description of
the device, we must note some general characteristics our charge detector should have; in the
end we will see how many requirements we have fulfilled. First of all, the spatial resolution
for the suggested application should be at least a few millimeters due to the large gradients,
and better if possible. The charge measurement resolution isn't as critical; the charges
normally accumulating on aruler can be quite large, as we shall see. Anyway, a higher charge
resolution means a more reliable device. The third important parameter is the time the
measurement takes. We will find that charge continuously drifts away from our ruler; thisis
unavoidable except by putting the entire device in an inert atmosphere or vacuum, which was
too complicated for us to do. Although the drifting can be minimized by severa techniques
(to be discussed), a fast measurement is necessary. As our device will in fact be a scanner,
moving across the ruler surface and measuring local charge density, we must be careful to
minimize the number of needed scanning steps to shorten the measurement time, while



retaining an acceptable spatial resolution. We will discuss these matters in more detail when
we get to the actual device construction.

2. The Ruler.

As we have mentioned, our charge analyzer will be used on a charged plastic ruler. Our
ruler was made of polymethilmetacrilate and was 15 cm long and 3 centimeters wide. The
charging of aruler by rubbing it with a cloth is a high school demonstration in electrostatics,
and there is a number of charge detection (not measurement!) methods suiting it. The most
common are different electrometers based on charge — metal needle repulsion, and charged
powders (like sulphur) clinging to the charged regions of the ruler. However, redly
measuring the charge density distribution with a reasonable spatial resolution is a
considerable difficulty. Even more complicated is the process of charging; why are electrons
transferred between cloth and ruler surface, and what sign will the net charge on the ruler
have? The answer to these questions has to do with intermolecular forces on surfaces,
delocalized electrons in the fabric and on the plastic, dielectric polarization and so forth, and
we will not go into tackling with it. Even the sign of the charges is not uniquely determined;
we have measured both positive and negative charges on one and the same ruler, which was
quite a surprise. The important fact is that once the charges are deposited on the ruler surface
they basically do not move. Thisis due to the fact that the ruler is a dielectric, meaning that it
has a huge electrical resistance and no current can flow either inside it or on its surface.
Another important consequence of thisis that the charges will always stay on the surface and
never penetrate the material; thus we can rightly speak of a monolayer. However, in practice
the conductivity of the ruler surface usually isn’'t nearly as small as one would expect, mainly
because of the grease and dirt deposited on the ruler when it is handled. This can cause
significant charge drift and make measurements rather inexact. To minimize this effect the
ruler needs to be degreased thoroughly (we rinsed it in ethyl alcohol severa times before
every measurement) and put on nonconducting stands (in our case degreased ceramic
cylinders). In this way the charge drift can be slowed down considerably, though it can never
be completely removed — there is namely a second source of drift, humidity in the
atmosphere. Due to the polar nature of the water molecules in air the charges on the surface
may cling to them and escape the ruler. This drift is very difficult to remove; in all of our
experiments the air was constantly held dry (humidity under 20%), but a certain drift was
aways present. However, the charge didn’'t change as rapidly as to influence the measured
results significantly, as we managed to get the scanning time down to a few minutes.

The rubbing process itself was devoted specia care. With a clean cotton cloth the ruler
was rubbed exquisitely at one or two localized spots, the rest remaining more or less
untouched. In this way we created regions of large charge density and steep transitions to low
— charge regions; this enabled us to test the capabilities of our detector. A good device should
be capable of reconstructing such configurations in detail.

3. The Device.

3.1. Principle of measurement.

The number of charge measurement principles and devices developed to date is enormous,
and each has its advantages and drawbacks. Some of the most common are the Kelvin and
vibrating capacitor probes [1] (for medium spatial resolution), cantilever — based systems [2]
(used in atomic force microscopes, measure the force on a charged tip with atomic — scale
gpatial resolution), the already mentioned crude electrometers used in demonstrations, solid
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state electrometers [3] of various designs, and many more. Our device used a combination of
a so-caled electrostatic mill and a solid state electrometer. The electrostatic mill is a movable
grounded plate, periodically covering and uncovering the electrometer’s detector lead. In this
way the electrometer is only exposed to the field it measures for short periods of time,
yielding an alternating signal. If the phase relationship between the mill oscillations and the
periodic electrometer signal is established, one can perform phase — locked measurements to
eliminate virtually al noise. Thus the field can be measured to a very high precision.
However, there is another vital element in the construction of our device, namely the scanning
system. The mill, electrometer test lead and phase reference measuring system were all
mounted on a compact probe, which had to be moved across the ruler surface in order to scan
the charge density distribution. This was done with a custom made xy-tranglator, controlled
electronically. In the following sections we will describe these parts one by one, in order to
gain insight in the construction and operation of our apparatus.

3.2. The Probe.

The probe, being the core of the system, requires special attention. As we have mentioned,
its main parts are the electrostatic mill, electrometer test lead and phase reference measuring
system. All those elements were mounted on a large grounded metal plate which provided
shielding and a homogeneous field in the perpendicular direction (Fig. 1.). The mill, as the
only moving part, required precision; it consisted of a conducting thin disc (made of paper
covered with a conducting graphite film) with three holes cut in it, attached to a small DC
motor (similar to the ones used in mobile phones for vibration). The mill (or ” chopper”, as we
refer to it) is shown in Fig. 2. It rotated with a frequency of about 80 Hz, providing a
convenient modulation of the electrometer signal. The electrometer itself was based on a FET
(short for field effect transistor), which is a semiconductor device consisting of along slab of
n — doped material (through which a current is set to flow) and two smaller sheets of p —
doped material located on opposite sides of the n — dlab. If leads are connected to those sheets
and put in an electric field, charges in the sheets are dislocated, effectively atering the volume
(and thus the resistance) of the n — doped slab (Fig. 3.). This means that one can determine the
strength of the field by measuring he current flowing through the n — dlab! It is clear that the
resistance between the points A and B in figure 3 is enormous (ideally infinite), meaning that
charges aren’t lost from the test leads but respond only to the outside field. However, the
problems arising to instabilities and noise when using a sole FE transistor made us choose the
FET amplifier LMC 6062 instead. The principle of operation remains practically the same.
The amplifier was connected to be noninverting, with a gain equal to unity and with alow —
pass RC filter at the input to serve as a first, crude noise removal facility. The entire circuit
was closed in a grounded metal box shielding it from outside influences (Fig. 4.), while the
test lead consisted of a copper disc 1 mm in diameter, mounted in afitting hole in the probe
grounded plate. The third vital part of the probe was the phase reference. It had to feed an
appreciable signal to the used lock — in amplifier in order for it to be capable of comparing
phases. We used a simple photodiode (the bright spot in Fig. 2.); the signal from it was
smaller when it was covered by the dark chopper and larger when a hole was under it. The
frequency of the signal was of course equal to the chopper frequency. However, the signal
offset (due to the constant light always falling on the diode) had to be removed, and the
aternating signal amplified. This was done with a LM741 opamp with adjustable gain,
followed by a passive high — pass filter for removing the offset. The amplifier and its circuit
were enclosed in agrounded box as well.
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Once having the two signals, measurement and reference, we fed them into a lock — in
amplifier in order to remove noise. As the phase relationship between the measurement signal
and the reference was always constant, a phase — locked loop could do a good job removing
all out-of-phase or wrong frequency noise, and the resulting signal was very clean and stable.
With such noise removal we were capable of measuring the voltage from the FET amplifier
with nanovolt precision. As we will see, this amounts to a charge measurement sensitivity of
about210 or even 1 nC/m?, while the typical charge densities on the ruler are of the order of 10
uC/m=,

3.3. Scanning and Control.

Having constructed the probe, we were left with the task of building a device which would
move it across the ruler surface in order to obtain a charge density map. The general
requirements for such a system we have mentioned already: high spatia resolution and speed.
Another problem is the synchronization with the measuring system; this we solved by putting
one single computer in charge of both. The trandator itself was built from the remains of two
used printers (one printer for the x and one for the y direction) and driven by two unipolar
stepping motors. Driving the motors in accordance with directions given by the main
computer was entitled to a microcontroller mainboard. The mainboard was a complicated
circuit containing two 8051 microcontrollers clocked at 12 MHz, communicating with the
computer via a seria link. Communication proceeded both ways, enabling precise scanning
control: the computer collects a number of signal voltage values from the lock-in (using a 12
bit AD converter) and forms their average (that is another low — pass filter!), and then orders
the mainboard to move the probe to the next measuring position. When the mainboard reports
that the probe has moved a new set of voltages is collected, and so on. The schematic of the
entire apparatus is given on Fig. 5, and a photograph on Fig. 6. The spatial resolution was set
to 1 mm, and the device was capable of delivering up to 20 measurements per second.
However, to use it we had to perform calibration.

3.4. Calibration.

To be able to measure the charge in absolute units (like C/m?) we had to calibrate our
device in aknown field. This was done as follows. An auminum disc, having a surface much
larger than the test lead, was held at a constant, known potential V. The probe was put above
it, at aheight D. The probe grounded plate thus created a charge image of the disc, the system
being equivalent to a capacitor at voltage V and plates D centimeters apart. Due to the fact
that both the probe plate and the charged disc were much larger than the test lead (or the
distance D, for that matter), the field at the test lead location was almost homogeneous, with a
vertical component

E . =— N

Now the root-mean-square voltage measured from the detector, Ugys, we found to be
proportional to E over alarge voltage range (Fig. 7.), following the relationship

E, =1.88-10°U 2)

We were able to distinguish between positive and negative charges thanks to the phase-locked
measurement method; the photodiode always gives the same signal, but the phase of the
measurement signal is reversed when measuring different signs of charge. This means that the
sign of the measured signal will correspond to the sign of the charge. It is also very important
to note that only the z — component of an electric field can influence the test lead due to the
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grounded plate; it creates a mirror image of the charges measured, thus virtually eliminating
lateral components. Also, the test lead is a thin disc, so latera charge displacement in it
shouldn't have a significant effect on the FET.

Having performed the calibration, we were ready to make field scans of the ruler and
calculate the real charges from the measured field. This was aso a troublesome task, due to
the fact that the distance between probe and ruler was always kept at 5 mm; thisis a large
distance compared to the sensing lead disc, which means that a relatively large charged area
influences the signal. To maximise the spatial resolution in charge determination we will have
to solve a system of equations for the charges; we will return to that issue in due time.

4. Measurement and Charge Calculation

Before conducting charge maps measurements, we had to check how fast the charge was
leaking off the ruler and how this could influence our scans. Two static measurements were
performed, one with the ruler uncleaned and one with a degreased ruler (Fig. 8.). The probe
wasn't moving during one measurement. The results are striking: the dirty ruler looses charge
at a large pace (70% in five minutes), while upon degreasing it the loss is brought down to
about 10% during five minutes! As the scan time was about three minutes, the losses during
scanning could be neglected. However, if a necessity for high precision is shown one can
always compensate for the loss using the curve on Fig. 8.

Measuring the charges on the ruler was conducted for two rubbings; the first measurement
had 5796 and the second 4991 one-millimeter steps. As we mentioned aready, the distance
between detector and ruler was held at a constant 5 mm. The obtained field maps are shown
on Fig. 9. After determining the field maps, we had to calculate the real charge. This chargeis
easy to find if we divide our ruler into little rectangles, each having a net charge o;; let the
sides of the rectangles have lengths equal to the step size, and let their number be equal to the
number of steps N. The field one such rectangle causes at the probe location is simply

1 o0,AxAy .
E (r,)= ;T 3)
47[80 |rs _rl,|
where r; is the probe radius-vector, &g is the permittivity of the vacuum, Ax and Ay the side
lengths of the rectangle (in our case both equal to the step size), r; the radius-vector of the
rectangle and r a unit vector lying on the line which connects the rectangle and the probe (it

. r —r.
can also be written as =

). Summing the fields of all rectangles an multiplying by two

rs - ri |
(the charge images forming on the grounded plate double the field!) one gets the net field at
the probe location; the detector is only influenced by the vertical component:

h & o, AxAy
> 5
x,—x )+ (v, -y, + k2]

where x,; and y, are the probe coordinates,  its distance from the ruler, N the number of
rectangles (and steps) and x; and y; the rectangles' coordinates. The probe makes N stepsin its
measurement, and on each location measures the field (4). In this way we obtain a system of

(4)
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N equations for exactly N unknown charge densities! Of course, the scanning region has to be
as large as the ruler so that the N rectangles cover the entire charged surface. The system of
equationsis linear, with an extended matrix of the form

4:11 6812 le Ezl
le 522 521\/ EzZ (5)
Cle 51\12 gNN EzN

with the coefficients ¢ equal to

é:si = 3
il e’

Xy =X )2 + (ys - yi)z

As the number N in our measurements was around 5000 (the system matrix thus containing
tens of millions of coefficients), we had to solve the system (5) with the help of a computer. A
program diagonalizing the system matrix and solving the resulting triangular form for the
unknowns o; (Gauss algorithm) was written in Turbo Pascal. The results were charge density
maps (Fig. 10.), with spatial resolution 1 mm. Aswe see, the charge on the ruler was typically
of the order of 10 uC/m? as we mentioned before; this is quite a large charge density,
corresponding to a metal plate at potentials as high as several thousand volts. The surprising
fact isthat one can obtain both signs of charge in asingle rubbing; the maps clearly show this.
We suspect that the reasons for this are very complicated and have to do with intricate surface
effects; a possible explanation would be the repelling of charges on the ruler: if a large
negative charge is put on the surface it may repel other dislocated electrons. They move away
from the negative charge, leaving bare protons behind which form a positive patch. This is
however not quite plausible because of the huge resistance to electron flowing; a very high
field indeed would be required. A better explanation would probably have to do with the
rubbing and transport process itself, but the complications are enormous, so we won't tackle
with it. Our task of measuring the charge density is complete, with rather satisfactory results.

5. Conclusion.

To conclude we will shortly sum up the properties of our device. The charge scanner we
constructed was based on a solid state FET electrometer modulated with a chopper; the charge
density distribution on a charged ruler (or similar dielectric surface) can be measured fast and
reliable. The spatia resolution is 1 mm (this can be made even better, but the scanning time
grows proportionally), the sensitivity is about 10 nC/m? (it can also be enhanced by using
more accurate electronics) and a scan of about 5000 points takes three minutes; the measured
charge loss during this time is about 5%. We can see that we have more or less fulfilled al the
desired characteristics mentioned in the Introduction. In the end let us propose an application
we think is quite amusing: charge writing. If one has arelatively large dielectric plate, writing
on it with charges is possible with a high voltage tip; if the voltage is high enough a discharge
through air will deposit electrons on the plate on a small region near the tip. Putting the tip on
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axy trandator enables one to write or make pictures (Fig. 11.). The writing can easily be read
with our detector. Of course, a similar process is aready implemented in printers and
photocopying machines: the xerox process!

We thank our mentors dr. sc. Zeljko Marohnié¢ from the Institute of Physics for advice,

discussions and providing the instruments used in measurement, and prof. Dario Mig¢i¢ for
support and help with everything.
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Figures:

Fig. 1. — The probe

Fig. 2. — The chopper.

Fig. 3. — The principle of operation of a FE transistor el ectrometer

Fig. 4. — The FET amplifier circuit in agrounded box

Fig. 5. — The schematic of the entire apparatus.

Fig. 6. — The entire apparatus

Fig. 7. — The calibration curve.

Fig. 8. — The measurements of charge in time. The detector was static for both curves.
Fig. 9. Thefield scans. The colour scaleisin arbitrary units (volts form the detector)
Fig. 10. — The charge maps.

Fig. 11. — Charge drawing
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7. Problem Ne10: Inverted pendulum

7.1. Solution of Korea

Problem Nel0: Inverted pendulum

Park, Hyeongsu, Korean Minjok Leadership Academy
1334 Sosa Anheung Hoengsung Gangwon, Korea 225-823

The Problem:

It is possible to stabilize an inverted pendulum It is even possible to stabilize an inverted
multiple pendulum /one pendulum the top of the other/. Demonstrate the stabilization and
determine on which parameters this depends.

This paper studies comprehensively about the methods of stabilizing an inverted pendulum.
An inverted pendulum is a free hung pendulum which is upright, and just like an ordinary
pendulum, it naturally falls downward because of gravity. Thus, the inverted pendulum
system is inherently unstable. In order to keep it upright, or stabilize the system, one needs to
manipulate it, either vertically or horizontally.

Many stabilizing methods have been developed. In 2-Dimesional system, an inverted
pendulum can be stabilized thorough either vertical or horizontal oscillation with certain
frequency. In 3-Dimension, rotational arms or free robot arms are used for stabilization. For
algorithm, a controller using feedback system or simple oscillation both work to keep the
pendulum upright, though processes or extents of stability are different from each other.

This paper first proposes theoretical background for all the cases. Then, the experiments
focus on horizontal oscillation and delve into the various characteristics and factors of
stabilization pattern.
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A. Physical Modeling for the Inverted Pendulum

Mechanics of the inverted pendulum is not different from that of the ordinary pendulum. It
consists of arod and a pivot. When you draw a force diagram of inverted pendulum system,
it's shown as Figure 1. As seen in the diagram, force is applied to the pendulum’s pivot
(base).

Let m be the mass of arod, P(Xo, yo) coordination of the pivot, CM(x,y) coordination of the
center of mass, | a distance from P to CM.

Two basic motion equations for the pendulum system are

mx=F_, my=F —mg (1)
and
1.0 =IF, sin@—IF, cost 2

Where Ic isthe moment of inertia of the rod with a pivot on CM.

X

Figure 1 Force Diagram of the Inverted Pendulum

Substitute Equation (1) for Fx and Fy in Equation (2), then we obtain

1.6 =ml(3+ g)sing—mlxcosé A3)
Then, from relationship between the coordinate of P and that of CM,

X=x,+18n6,y =y, +[cosf 4)
Thus,

X =¥, +16cosh—16°sing,

. . 5
y=7%,—10sn8—16" cosh ©

Substitute Equation (5) for ¥ and ¥ in Equation (3), then the equation becomes
I .. :
—-6+ %, c080 —(y,+g)snd=0 (6)
mL

Where I, =1, +ml? isthe moment of inertia of the rod with a pivot on P. Equation (6) is

a universal motion equation for the inverted pendulum, which can also be applied to an
ordinary pendulum. This equation will be used in simulation which will be later explained. In
the next chapter, we will use this equation to find stabilizing methods of the pendulum.

76



B.Stabilizing Methods of the Inverted Pendulum

An inverted pendulum can be stabilized in mainly two ways. simple oscillation and
feedback control system. The pendulum with oscillating base at certain frequency can stay
upright without falling down. With a control system, the pendulum’s movement is minutely
manipulated by the machine to keep it upright.

i) Oscillation
Oscillation is a possible method for stabilizing the inverted pendulum. Three kinds of
oscillation are possible : oscillating vertically, oscillating horizontally, and rotating it. (Blitzer
1965)

a) The vertically driven pendulum

The inverted pendulum can be stabilized by moving it up and down at certain
frequency. Mathematically,

x,=0, y,=Acosax (7
Then, Equation (6) becomes

I .
—”19+(Aa)2005a)r—g)sin<9:0 ®)
m

b)The pendulum driven in two dimensions
Here, x, = Bcos(w't + @), y, = ACoSax . Equation (6) becomes

I .
—”le—Ba)’zcos(w’t+d>)cos€+(Aw2cosax—g)sinezo 9)
m

¢) The rotating pendulum

The rotating pendulum is the special subcase for the case two, where
B=A, w=&', ®=-7r/2.Inother words, x, = ASinax, y,=Acosax . Then,
Equation (6) becomes

I .
—”19+Aa)zsin(¢9—ax)—gsin¢9=0 (10)
m

d)The pendulum driven horizontally
Inthiscase, x, = Acosax, y,=0
I .. _
L6 Aw’ cosax — gsind=0 (11)

ml

For small oscillation, 8 <<1, the angle range where the inverted pendulum can be
stabilized, Equation (11) is simplified into
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I .
L 60—-Aw" cosax —gf=0 (12)

ml
6 —m,’0 = Dcosax (13)
mgl mlw’A
where (002 :_g’ D=
Ip IP

In this equation a)o2 is remarkable because it is an angular frequency of the normal

pendulum. Equation (13) is a linear differential equation, and the solution for this differentia
equation in terms of thetais

. w. Dcosar
9:616% +be “ —m (14)
0
a=l[l90 +&+%]
2 W, o +aw,
1. 6 D (19
= ey
0 0

where the angular displacement and the angular velocity of the inverted pendulum at
t=0is 6, and 6,, respectively.

In order to make the pendulum oscillate, the exponentially increasing term, or the
exponential term with a positive exponent, should be eliminated. Thus, a should be equal to

Z€ero, or

. D
6, =—,0, — y,——— =—Ea, (16)
W+ w,
D
where E=6y+—; 2
o+,
Then, the final solution for theta becomes
_ D cosawt
O=Ee™ -—— (17)
W+,
When t approaches to infinity, theta converges to
0 D coswrt
=T 3 18
0* + @, (18)

To conclude, when the pendulum’ s pivot oscillatesin x, = AcoSa¥, y, =0, it can be

Dcosat
stabilized with €= _m . Although theta does not converge into one value, it does

0
keep upright while oscillating constantly. The experiments, which will be explained later,
focus on the relationship between xo and theta.
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ii) Feedback Control system.

Another method to stabilize the inverted pendulum is using feedback control system.
Feedback control system is the process in which the movement of the pendulum’s pivot is
continuoudly fed back based on the pendulum’s physical condition in order to keep the
pendulum upright. For example, at one moment, when the pendulum leans to the right, the
base moves fast to the right so that the pendulum becomes upright. Still, the base should move
ina

- ¥

Figure 2 Fundamentals of how the inverted pendulum is stabilized
Purple arrows indicate the direction toward which the

inverted pendulum should move when it is leaned as

shown above.

certain force because either too fast motion or too slow motion fails the stabilization. When it
starts to lean to the left, the pendulum’ s base moves left to make it upright again.

In definition, feedback control system monitors certain output of the system and
manipulates its inputs to keep the output near to desired value. As seen in Figure 3, it isalso
called closed loop control system because the output affects the input which again produces
the next output, repeating the cycle. It has several advantages over an open-loop controller it
can quickly respond to the possible disturbances or uncertainties and keep the pendulum
stabilized constantly.

In the closed loop controller, the desired output is called the reference. Difference between
the reference and the current output is the error. The objective of the feedback control system
is making it zero by manipulating inputs of the system. The diagram for feedback control
system is shown as below.

In the case of the inverted pendulum, x, the position of the inverted pendulum, and theta, an
angle between the rod and the perpendicular line, are outputs. Desired behavior, or reference,
istheta= 0; we want to keep it upright. Their values are measured by instruments and put into
the controller to calculate an input. The input is the force applied to the base of the pendulum,
through which we manipulate its movement. However, the disturbance inputs, such as
mechanical frictions, also involves in the motion of the inverted pendulum (Process), along
with the input from the controller. Then, x and theta change, and these outputs again are
measured and put into controller, completing one revolution of a closed-loop control system.
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Control Svystem

Open Loop Control System
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Figure 3 Comparison between Open Loop Control System and Closed Loop

Control System*
Feedback control system differs from open loop system because it measures

the output and feedback it to the controller. Output determines the value of
the next output.

FROCESS Outprts

Among many kinds of controllers, a PID controller is a common feedback loop system.
PID stands for Proportional, Integral, and Derivative. As the name implies, the input of the
system is determined by three variations of the output's vaue; the error (Proportional),
integral value of the error (Integral), derivative value of the error (Derivative). The equation
for PID controller is shown as below.

Output=P+1+D

=KP-e+K,-'[e-dt+KD£ (19)

Controlled
Device

Set Point
Generator

Figure 4 Diagram for PID Controller?
PID controller uses proportional gain, integral gain, and derivative gain of the error
in order to determine the value of output which can make the error zero

This equation is needed to be analyzed in each component in physical points of view. In the
inverted pendulum system, the error signifies how much the pendulum leans.

! http://www.ic-tech.com/Fuzzy%20Logic/
(Diagram 1. open 2: general 3. specified)

2 http://www.brewerscience.com/products/cee/technical/ceepid/
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a) Proportional component

The error is multiplied by K, and added to the controlled output. For example, for a heater,
acontroller with a proportiona band of 10 °C and a setpoint of 20 °C would have an output of
100% at 10 °C, 50% at 15 °C and 10% at 19 °C.2

In the pendulum system, when the rod Ieans more, the increased theta increases the sum of
output. The result is that more force is applied to the pendulum’s base. Note that when the
error is zero, a proportional controller's output is zero.

b) Integral component

Integral component signifies the average error during pendulum’s movement. Integral
movement extenuates too fast response from P and D components. From balance between |
component and P/D component, the PID controller determines the patterns of stabilization.

¢) Derivative component

Derivative of the error, or theta, is an angular velocity omega of the pendulum. It signifies
how fast the pendulum isfalling. The faster it falls, the more the force applied to it should be.

Each component contributes differently to the stabilization. Increase in proportional
coefficient causes fast response, but it causes overshoots and steady state errors. Overshoots
mean unnecessarily overt reaction. The highly responsive pendulum exerts too much force
that the pendulum goes over the perpendicular line and fall down out of control. Also, steady
state error is an error which is not removed by the controller. Bad controllers don’t make error
zero, and the value the error converges is steady state error. The integral component has a
force which eliminates this steady state error. Although large value of integral gain may make
oscillations even larger and make the system unstable, reducing the error improves the
accuracy of the system. Lastly, derivative component also contributes to fast reaction and,
more importantly, provides a dampening effect to eliminate oscillation and overshoots. In the
inverted pendulum system, it provides an overall stability to it.

2

1 M\
1]
1] 17 .60

doN

a 17.60

3 Wikipedia : PID Controller
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1

1] DV
Figure 5 P Control, Pl Control, PID Control (from top to bottom)*
P component is basic measure of the control system, | component eliminates

17 .60

steady state error, and D component extenuates oscillation.

Since each component has its good and bad points, one should combine the three in order
to make the best stabilization of the pendulum. Finding ideal PID coefficients will be later
explained in Discussion section.

iii) Difference between the two methods.

Both oscillation and feedback system can stabilize the inverted pendulum. However, their
characteristics are different each other. In their mechanisms, simple oscillation is a kind of
open-loop controller, whose input is fixed at any time. In contrast, feedback system is a
complicated system whose input continuously changes depending on the pendulum’s physical
condition. Asaresult, it’s unable to exactly predict the pendulum’s motion.

The differences in physical complexity also determine the differences in the controlling
device. Oscillating the pendulum needs a very simple machine such as a robot arm or a
speaker (which makes very minute oscillations), but to realize feedback system needs an
advanced electrical device which can perform differentiation and integration, and simulate
mathematical modeling.

Nevertheless, feedback system is not an inefficient controller. Rather, the opposite is
true. Complexity of the PID controller enables very flexible control compared to oscillation.
In a strict sense, oscillating imperfectly stabilizes the pendulum because it doesn’t make the
rod stand upright but oscillate continuously. However, PID controller can vary the stabilizing
movement by manipulating the values of P, I, D gains. In one case, one can make the
stabilized pendulum oscillating precarioudly. In the other, one can make it exactly upright and
not moving abit.

Table 1 Comparison between oscillation and feed back control system
Cost Instruments Complexity Flexibility
Oscillation Less Simple(speaker) Can be solved Only one can
with a clear-cut stabilize or not.
motion equation

Feedback More Complex Nonlinear Can vary the pattern
System (a device with  Need to be of stabilization
complicated arithmetic familiar with
calculation) control theory

* Cuthbert Nyack Control (http://control can.homestead.com/files/acontrol/con2pid.htm)
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C. Apparatus

Realizing the control system needs computer program which can simultaneously check the
pendulum’ s conditions and calculate.

The inverted pendulum moves by the cart attached to it. The cart is fixed on a screw rail
run by a motor. The cart and the pendulum do not move itself but the rail does. The motor is
connected to the computer and it takes in charge of al the calculations needed for a PID
controlling. The computer receives the information of x and theta, calculates how much force
is needed to make the pendulum upright, and gives the value for torque applied to the motor.
The motor’'s speed is determined by at every one thousandth second. Using CEMTool, a
Matlab based program for controlling, we constructed PID controller system, which measures
x and theta and cal cul ates the force applied to the cart at every 0.001s.

Z CEMTool - H2o2 ==
- MEHEY BEE =3I OH3M  #Hiw =S2H)
DRHB|(tans /o [ARgze0 @

iMode CEM Mode - FIXEDSYS =~ HE - HE

folt= ax| FHOH |

3 aEIE

o8 e
¥ o a7 %

Name | Size | Type

O_H Tul scalar CEHTool vw6.08 Apr 14 2006

AQ Hin 11 scalar

201V 1wl scalar CEH>>

ﬂg_l‘_inh } # } sca}ar CEM>>
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A0dout 1wl scalar CEH>> [ CEMTool Graph [11

QODM } «! Chgrci‘ﬂ?artrik CEM>> oy d%A IR &=+
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angleP,,, B0, mattix CEM>> 5

angled! GO, matrix

angled!3 60, matrix CEM>> i i j H

anglelefl EO... matriz CEM>> : b : :

ch 1x1 scalar L F i e A | o T T T et Sttt
forl200 ED... matrix GEM>> ! '

forP300 GO, rhatrix H | b l l

fordi G matix CEH>>plot(t,Forl28n) R e 6 AR A N R IR R (W
b G me ||| 2F WE : forlzesais WLt E

posl200  BD... matrix

posPI00 B0 atrix GEM>>plot(t,for1208) g b LR

posdi 0. matrix CEM>>plot(t,anglel2an)

posdi3 6O, matrix
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t mateix (M e T I Iy
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Figure 6 Apparatus of the Experiments (upper column) and Interface of CEMTool
(lower column)
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D. Experimental Method

Because of the limitation in the apparatus, we made experiments only on the case | and
caseiii.
i) horizontal oscillation

To realize the horizontal oscillation of the pendulum, we should know which function of
the force is needed to make the pendulum oscillate precisely. However, the mechanics of the
inverted pendulum system is complicated by the cart, the rail, and the motor which are not
considered in the theoretical model. The precise physical model which takes those three into
account is shown in Equation 20 & 21.

F =(m+M)x+bx+mlécosf —ml6*siné (20)
—¥cos@—gsing =216 (21)

Basically, the real physical model has nonlinear components, so it's unable to get a
solution for force F to make x, = Acosa¥, y,=0

As a result, we needed to adopt PID controller in order to realize the horizontal
oscillation. By handling PID gains, we made the pendulum stabilize with oscillation, and then
began experiments. Although the process of setting the gains' values is arbitrary because of
the system nonlinearity, we were able to vary the stabilization patterns using a conventional
method for setting PID gains without mathematical calculation.”

A

m

mg

F A ’ : :
—.— - . 20. 40, BO.
x o time(s)

Figure 7 Diagram of cart-pendulum system (Left) and Oscillation interval of
the controlled inverted pendulum (Right)

a) Experiment 1 : Proving the theory’s validity

In the theoretical background part, we proved that in the stabilizing pendulum the value of
theta is determined by x. From the graph of x, we drew the graph of theta calculated from
Equation (18). Then, it is compared with the experimental value.

5 Engineers in the control theory use more complicated method to determine PID gains, but

we didn’t use it because this paper focuses on the motion of the inverted pendulum, not the
PID controller itself.
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b) Experiment 2 : how mass and length affect stabilization

Among many variables which affect the stabilization of the inverted pendulum, its mass
and length greatly determine major part of its motion, like those of the free-falling pendulum.

The pendulum consists of the heavy weight at the end and the rod. We prepared 4 different
finds of weights (24.4g, 35.99, 73.3g, 108.5g) and observed the difference in stabilizing
pattern. Then again, with 4 different kinds of rods (30cm, 40cm, 60cm, 70cm) the
experiments were repeated.

ii) Experiment 3 : PID Control

As mentioned before, with PID controller the inverted pendulum can have various
stabilized patterns. It is adso possible to stabilize faster and more accurately than simple
oscillation. In this experiment, we searched for the condition of PID coefficients which can
achieve the perfect stabilization of the inverted pendulum.

First, we changed the values of PID coefficients one by one and checked their effects each.
In this case, we decided the standard of perfect stabilization as followings: first, less time to
reach stabilization (less than 5 seconds) and, second, almost no oscillation after stabilization
(angular amplitude less than 1cm). First, through simulation using CEMTool, we first grasped
the range of PID coefficients which stabilizes the pendulum. Then, minute adjustment was
based on actual demonstrations.

E.Result

i) Experiment 1 : validity of the theory

40. T . 4.e-002
35, : '
30.
25, 2,6-002
— T
E 20. . ; ©
EJR LN EEEEE [N S B B 0 I O A A i
v-m RN NN O DU Y S A O S I A SR, I ORY ¥ NS B @ 0.
w 10. - - )
5. c
©
0. -2.e-002
5.
-10. : ,
15, . 1 -4.6-002 . i
0, 20. 40. 50, 0. 20 40. 50.
time(s) time(s)

Figure 8 Graph of x and theta of the inverted pendulum stabilized by PID
Controller
Black box shows the oscillating interval.

It was previously mentioned that when the inverted pendulum is imposed an oscillation

D coswt
— 2 . Figure 8 isgraphs for xo and theta

@’ + @,

measure from Experiment 1, and we can see that when x starts to follow a sinusoidal function,
theta also resembles a sinusoidal function, implying the validity of the theoretical model. To
prove that the the function of theta is exactly the same with that calculated by theoretical
model, we should check the amplitude and angular frequency of the cosine fuction. Table 2,
shown below, is the result for the comparison of angular frequency at various lengths and

X, = Acosax, y, =0, theta becomes 0=
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masses. Notice that length of the pendulum, shown in the table, is equal to L, not |, which is
defined as the distance between the pendulum’ s pivot and the pendulum’s center of mass. The
relationship between L and | is later calculated in Appendix 1. m is the mass of the weight
attached at the end of the pendulum.

Table 2 Comparison of Experimental Value and Theoretical Value of Angular Frequency

L (cm) 30 40 60 70
m (Q) 108.5 108.5 108.5 108.5
W 1.213 1.206 1.230 1.206
&P +0.081 +0.040 +0.061 +0.053
Dipeory 1.199 1.220 1.199 1.215
Error 0.014 0.014 0.031 0.009
L (cm) 40 40 40 40
M (9) 24.4 35.9 73.3 108.5
W 1.188 1.213 1.236 1.239
&P +0.060 +0.051 +0.063 +0.062
Dipeory 1.198 1.207 1.218 1.229
Error 0.01 0.006 0.018 0.01
Table 3 Comparison of Experimental Value and Theoretical Value of Angular Amplitude
L (cm) 30 40 60 70
m (Q) 108.5 108.5 108.5 108.5
6° 11.257 7.068 5.498 5.149
&p +0.909 +0.785 +0.785 +1.277
Htgem 11.596 7.221 6.049 4.633
Error 0.339 0.153 0.551 0.516
L (cm) 40 40 40 40
m (Q) 24.4 35.9 73.3 108.5
6° 19.350 17.618 12.043 6.977
&p +0.785 +0.453 +0.906 +0.453
oy | 19.984 18.070 11.865 7.427
Error 0.634 0.402 0.178 0.450

The error between expected amplitude and actual amplitude and that between expected
frequency and actual frequency are little. From the result, we can see that the theoretical
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model fits well with the actual experiment. Finally, when the pendulum’ s pivot oscillates
D cosax

inx, = Acosar, y, =0, it can be stabilized with theta «9=—a)2 Tl
0

ii) Experiment 2 : how mass and length affect stabilization

So far, we saw that the theoretical model for the inverted pendulum is correct by comparing
theoretical estimates and experimental values. Next, how the pendulum’'s physical
characteristics, such as length and mass, affect the pattern of stabilization is studied during
Experiment 2.

Figure 9 shows the result. For every length of the rod, a weight with 108.5g was used. As
longer rod is used, the amplitude of the oscillation decreases while frequency keeps the same
value.

Also, we varied the mass of the weight on the tip of the pendulum. For every mass of the
rod, a 40-centimeter-long rod is used. As aweight with heavier mass is used, the amplitude of
the oscillation decreases while frequency keeps the same value. One with a heavier mass
tends to be stable.
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Figure 9 Effects of Mass and Length Mass(q)

As length increases, the amplitude of the cosine
function decreases while the frequency remains the same. In other words, the long pendulum
stabilizes more readily.
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iii)

Experiment 3 : PID Controller
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Figure 10 Effects of P, I, D Coefficients

Figure 10 shows how the pendulum’s movement changes with P, I, D coefficients.
Although the only obvious characteristic shown in the graph is amplitude, it still represents
the coefficients' roles in stabilization. As P increases, the amplitude increases, which is very
characteristic of P component. As | increases, the amplitude recognizably decreases, and
especially when | = 800, the pendulum is stabilized with ailmost no oscillation. This case (P=

300, I = 800, D=0.7) fits to the conditions of perfect stabilization. As D increases, the

amplitude increases. Difference between P and D is that the amplitude changes a lot more by
D than by P. The next chapter will analyze the result from the two experiments.
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F.Discussion

i) Experiment 2 : length

D

A =2
2
@ + @,

ang
=mlw’ Al(Iw® +mgl)
2M + 1 2M +
= (Y LA KM +=m) e +mg (") L)
2M +2m 3 2M +2m
oL  «
P+ BL+y
where L isthe length of the pendulum, | the distance between its pivot and its center of
mass, m mass of the rod, M mass of the weight.

(22)

Substituting m, M, |, @°® for D and @, clearly explains more stable motion in the

longer pendulum. As seen in the last Equation (22), L isin the denominator so that increasein
L eventually resultsin decrease in angular amplitude

In viewpoint from energy and torque, more length means more moment of rotation.
Thus, the rotational energy from the basis affects less to the end of the long pendulum than
that of the short pendulum. It resultsin less overshoots, making the pendulum more stable.

Constancy of the angular frequency is because angular frequency of theta is the same
with frequency of x, defined by @ . Thus, length does not affect to the frequency. Note that
the free falling pendulum’ s frequency is affected by length.

ii) Experiment 2 : mass

2M +m 2 1 2 2 2M +m
A =m(————)Lo°AI(M +=m)L"w* + —)L 23
e =M LGP ANM +5m) 0" + mg( D)) @)

From equation (23), increase in M causes angular amplitude decreases as denominator
increases faster than numerator.” Thus, the graph in Figure 9 supports the theoretical
expectation.

iii) Experiment 3 : PID Controller

The result from Experiment 3 basically supports the characteristics of P, I, D gains.
Increase in P and D coefficients makes the response faster at cost of stability. As aresult, the
angular amplitude increases as the coefficients become larger. On the other hand, | coefficient
improves the stability of the inverted pendulum system and reduces its angular amplitude.

We also saw the one case of perfect stabilization, in which the pendulum is stabilized
with amost no oscillation. To find such cases of perfect stabilization, there are various
methods, such as Ziegler-Nichols auto-tuning method and Relay auto-tuning method.
However, in most cases, they are based not on physical modeling but mathematical control

6 Detailed procedure of substitution is shown in the appendix 2.

7 Detailed explanation for this statement is shown in the appendix 3.
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theories. Although there are model-based methods such as root-locus method and transient
response method, they are hard to apply to the inverted pendulum system because of its
complexity. As explaining about the methods need comprehensive knowledge of control
theories, we just introduce the name of methods.

G. Conclusion

The paper covers the inverted pendulum and its various controlling methods, including
PID controller. Theoretical model was established based on the basic mechanism of the
ordinary pendulum, and proved true by a series of experiments. It also enables us the
prediction for how physical characteristics of the pendulum, such as mass and length, affects
its movement and stability. The experiments showed the valid relationship between the
pendulum’s physical traits and stabilization patterns, which also correspond to the theoretical
expectation. Finaly, PID controller provides the possibility that the pendulum can not only
just be stabilized but also be stabilized with various patterns. Among them, we analyzed the
perfect stabilization case and realized it. In this aspect, PID controller shows high
applicability and flexibility in controlling the inverted pendulum.

For one who should choose between PID controller or simple oscillation, the choice
depends on one's preferences. As those two methods have strengths and weaknesses, shown
in Table 1, one should choose strong points as a tradeoff for other strengths. In conclusion,
the question how to keep the pendulum upright has many answers, and the choice is open to
the users.
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Appendices

i) Calculation of the Center of Mass and Rotational Inertia

pvor m
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a) Center of Mass
—L-m+L-M

m+M
_2M +m

" 2M +2m

b) Rotational Inertia

I=1

rod + mass

= %mLz +MI?

:(%m+M)L2

ii) Detailed process of the equation for angular amplitude

D
Aangz 2 2
"+,
2 mgL mLw’ A
where @ =I—’ D=I—,I=(%m+M)L2
p p

When we al substitute w,, D, and I, the equation becomes

D
Aang = 2 2
o + o,
mlw*A
_ I

v+

=mlw’Al(Iw” + mgl)
2M +m 2 1 .2 5
=m(————) Lo AI(M +=m)L"w° +
m(ZM +2m) (« 3m) ms(

oL o

T B2+ A BLiy

2M +m | 1 5 2M +m
where o = m(———)w°A, =M +=m)w*,y = == "
m( ") ) b= 3m) y=mg( ") )

2M +m

2M + Zm)L)

iii) Denominator and numerator of the angular amplitude
The objective is to determine which side, denominator or numerator of the angular

amplitude, increases faster as M increases. wand A have their maximum value because the
inverted pendulum cannot be stabilized over certain value of wand A. Although the
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thresholds cannot be measure precisely, the experiments showed that approximate maximum
valueforwand A is 1.5 and 0.3, respectively. Thus,

@w*A<15°*03<g~98
Multiply the both sides by mL, then,
mLw®A < mgL

Thus, when x is variable, mLw® Ax increases faster than mgLx . When

X = 2M +m , m 2M +m YL@’ A increases faster than mg(M)L as X increases.
2M + 2m 2M + 2m 2M + 2m
Also, mg(ZM MY L < (i + 2y 20? + mg (P L
2M + 2m 3 2M +2m
Thus, m(M)szA increases faster than (M +lm)L2a)2 +mg(M)L as
2M + 2m 3 2M + 2m
X increases
Since x = 2M +m =1 n , X increases as M increases.

2M +2m  2M +2m

Thus, m(M)La)ZA increases faster than (M +Em)L2a)2 +mg(M)L
2M +2m 3 2M +2m

as M increases

In other words, the denominator of A, increases faster than the numerator of A, as
M increases.

92



7. Problem Nel10: Inverted pendulum
7.1. Solution of Korea

7.1.1.Review of solution of Korea

Review of solutions of the problem number Ne10: Inverted pendulum

The problem is an interesting problem from both the theoretical and
experimental points of view. It opens possbhilities to perform a number of
experiments at the high-school level using a variety of techniques to provide the oscillations
required to stabilise the system. Mathematical solutions of some complexity but based upon
concepts already met at high school level should be feasible. Numerous sources of sample
theoretical solution to stabilising a single inverted pendulum exist to give guidance but less
information is available relating to the situation of an inverted multiple pendulum.

Solution from Korea:

The solution from Hyeongsu Park of the Korean team concentrates on the situation of asingle
inverted pendulum and looks at comparing differing methods of achieving the stabilisation
required.

The paper references Blitzer's paper “Inverted Pendulum” in the American Journa of
Physics, Volume 33, Issue 12, June 1965, pp.1076-1078, but this is not clearly cited within
the theory development. Three other references are well cited and used. Given the number of
papers on a single inverted pendulum available it is difficult to measure the originality of the
solution but the comparison of methods is a nice element and would lead to a useful
discussion tool in school physics lessons.

The use of language is confusing at times but the mathematical arguments are well devel oped
and easy to follow. These are supported by clear experimental methods and graphs of the
results.

| think it is a good solution of the problem of a single inverted pendulum involving careful
research of secondary sources and well conducted experiments. The variety of stabilisation
patterns was an interesting finding. It is a little disappointing that the more original problem
of an inverted multiple pendulum was not addressed.

Overall: A nice report, but with the minor drawback that it addresses only part of the stated
problem.

Alan Allinson
IYPT Australia
alan@iyptaustralia.org or allinson@bggs.gld.edu.au
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7. Problem Nel10: Inverted pendulum

7.2. Solution of Ukraine
Problem Ne10: Inverted pendulum

Maxim Anisimov, UPhML KNU,
Ukrainian Physical and Mathematical Lyceum
of Kyiv National Taras Shevchenko University, Ukraine

The Problem:

It is possible to stabilize an inverted pendulum It is even possible to stabilize an inverted
multiple pendulum /one pendulum the top of the other/. Demonstrate the stabilization and
determine on which parameters this depends.

Introduction

Inverted pendulum is an interesting example of the non-linear oscillating system. The main
idea of this device is an oscillating point of suspension. In this case, upper position of the
pendulum is stable. The motion of the inverted pendulum is a classical example of the motion
in the fast-oscillating field.

It was first theoretically investigated by P. L. Kapitzain 1951, so the physical model of the
single inverted pendulum is well-known. Kapitza also demonstrated an experimental device to
prove his theoretical results.

Problem statement.

To build a complete solution, both theoretical and experimental sides of the problem should
be considered. Theory proves the possibility of stabilization, and experiment demonstratesiit.
Physical model.

The main idea of such stabilization is to oscillate the point of suspension vertically with the
frequency, lot more than the characteristic one. The motion equation looks as following
(general form):

¥+ f(x) = F(x)cosQt, (1)
here Q >> % , Where T is the specific period of motion in the system.

The solution X is found as the sum of slow and fast oscillating parts x(z) and xy(t). After some
transformations the equation (1) is rewrote as:

1 F(X)oF
2 Q° ox|,
We see that additional force appears; it is proportional to the oscillations' amplitude.

Now let’s consider the double pendulum, consisting of two point loads on the weightless
sticks:

=0

X+ f(X)+
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First of al, we write down the coordinates of
weights M and m:

x, =Lsing,

v, =Lcosf+a-sinar,

x, =LIn@+[-9ng,

y,, =L00s6+!-cosp+a-Snar,

Now let’s evaluate the kinetic (T) and potentia (U)

f th ights: .
energy of these weights . sin ar

M . ; m,. ;
T, =— @5 +92), T, =— (x4 y.);
2 2
U, =Mgy,,U, =mgy, .

Then we write the Lagrange function (the difference 7-U) for all the system:

(M + M +
L=L262( 5 mj+aza)2 cos? a)t( n

j—Zaa)Lcosa)tésine(M;mj+

+%(12(p2 +2L1cos(0 — )6 ¢ — 2aml cOSwt Sin gogb) — Lg cos@(M +m)—

—ag Sinwt(M + m) —mgl CoS .

Now, using this expression, we can write down the following set of differential equations:
d(aL) oL 4ot ot
dt\06) 060" dt\dgp) d¢’

that describes the motion of double pendulum.

After derivation, simplifying and some transformations we get another system:

(M +m)| L +ae’ sinarsing—gsing |+mi| cos(6 - ¢)¢+sin(0—p)¢” | =0

1§+ (aw’ Sinaxt — g)sing— Lsin(@ - 9)6” + Lcos(6 - ¢)6 = 0.

Equilibrium condition.

To solve these equations, we use the same method as for Kapitza pendulum equation. We
substitute angles 6 and ¢ in the form: &=y+a, ¢=0J+ [, where the first terms vary
slowly relatively to the second terms. Averaging upon the period of the point of suspension

oscillations 2—7[ one can get the set of 4 equations:
@
(M+m)[L;7+aa)2<sina)t-a>—g7J+ml5':0 (2 @)

16+aa’ (Snet-f)—gS+Ly=0 (2 b)
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(M+m)[L02+aa)25ina)t-7—ga]+ml[?:0 (2 ¢)
IB+aw’snat-6—gf+Lit=0 (2 d)

In the two last equations one should consider a=Asinat, f=Bsnat, and other

variables are constant. Then, finding A and B from (2 ¢) and (2 d), one can get solutions in the
form:

A=fiy+ f25’
B= f37/+ f45-
Then (2 @) and (2 b) look as follows:

. aw’ «
L7+a2 (fiy+fo0)—gy+ulo =0,
2
18+ (fsy+fa0)—g6+Ly=0,u=

2 M+m’

We find general solution in the exponential form, 7~ & ~ e”.
After some transformations we get the characteristic equation for A:

2

2 2 2
75(/12L+ag) fl—g}(—l/iz—“;" f4+gj:57(—a;) fz—ﬂlﬂzj{Lﬂ,zﬂ-a(; f3j

It is biquadrate, and possible roots are £4,,£4, . For the stable equilibrium they should

be purely imaginary, so, (/12 ) L2 < 0. Writing the equation as polynomial of A, one can get:

2 2 2 2
M (LI—pin)+a2[ LaQ S a0 AL a0 2L plao’f3
Z 2 2 2
L0 aw’fly gaw’ft  , ao'R2f3
4 2 2 8 4 -

or
AL +BA*+C=0.

We designate coefficients near A by A,B,C, where A>0. According to the Wiet theorem, to

find the equilibrium, the following conditions should be fulfilled:
B>0

Cc>0
D=B?-4AC>0
It’ s difficult to solve these inequations manually, but with the help of computer it’s possible
to get numerical dependences of 4,B,C,D on the frequency and amplitude.
Graphs showing dependence upon amplitude and frequency,

built with Maple 8 (Constants: M =0.1; m=0.01; L=0.3; [=0.2).
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Experiment.

To demonstrate the real stabilization, our team constructed an experimental device. Its
photo is shown below:

Conclusions.

To solve the problem theoretically, known physical model of a single inverted pendulum
was considered. It was used as a basic one to build the theory of double pendulum. Resulting
solution determines the possibility of stabilization, depending on initial conditions, which are
inputted numerically.

The presented problem solution demonstrates an example of the physical modelling of non-
linear oscillating systems.
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8 Problem Ne 11: Singing tube

8.1. Solution of Australia

Problem Nell: Singing tube

Kathryn Zealand, Brisbane Girls Grammar School, 47 Verney Rd. West, Graceville,
Brisbane, QLD 4075, Australia, s106863@bggs.gld.edu.au

The Problem:

It is possible to stabilize an inverted pendulum It is even possible to stabilize an inverted
multiple pendulum /one pendulum the top of the other/. Demonstrate the stabilization and
determine on which parameters this depends.

1. Abstract

The Rijke or Singing Tube is a vertical tube with metal gauze inserted in the lower half.
After heating the gauze, a loud sound is produced. By investigating many aspects of the
Singing Tube phenomenon, it was discovered that during a compression, cool air is drawn in
and heated, this causes its pressure to change, augmenting the pressure maximum. This action
creates and sustains the acoustic wave, however when determining the optimum gauze
position, the two factors of consideration disagree. The Rayleigh Criterion and Rayleigh
Index provide a more precise model of the relationship between gauze position and sound
intensity. Expressions for heat transferred from the gauze, and where this heat was lost to
provide insight into the mechanisms which determine how long the singing can be sustained,
and thus what variables to experimentally investigate, these included tube length, diameter,
material, shape and the gauze' s heating time.

2. Interpretation

We were asked to investigate the ‘singing’ produced by an open tube over a flame. We
defined ‘singing’ as a loud sound with definite frequencies, and minimal variation in sound
intensity. We tried producing a sound with just a tube over a flame; however, we did not
count this quiet and raspy sound as ‘singing’. Research suggested that adding a piece of gauze
inside the pipe would enhance the noise to a louder and measurable ‘singing’ tone. Therefore,
we concentrated on this interpretation of a singing tube (also called the Rijke® tube).

3. Basic Theory

There were 2 phases of heating, in the initial heating phase, the Bunsen heats the gauze, yet
no sound is produced. After removing the heat source, the tube ‘sang’ for a period of time
before stopping. To understand how this creates sound, some basic theory is needed.

3.1. Waves

Sound or Acoustic waves are longitudinal, meaning that the particles vibrate in the
direction of the wave's propagation. A sound wave is made of compressions (areas of high
pressure) and rarefactions (areas of low pressure). Particle displacement and pressure
variations can be modelled by the sinusoidal functions[1]:

8 P.L. Rijke was a professor of physics at the University of Leyden in the Netherlands when, in 1859,

he discovered this phenomenon
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Ap(x,t)=Ap, sin(kx—ar) 7 u | 4

Figure 11 Pressure and Displacement functions are out of phase

Where o is the angular velocity, p is the pressure, k is the wave number, s, is the
displacement amplitude and pn, is the pressure amplitude. The pressure and displacement
functions are out of phase.

Hot air is less dense than cool air, so will rise. An initial compression is caused by the
rising hot air, as the static air above it will ‘bunch up’ causing a compression. This hot
moving air will also cause a pressure difference between the inside of the tube and the
ambient outside pressure, so a pressure barrier at the end is formed. Some of the initial
compression will then reflect of this barrier back down the tube. The reflected compression
will constructively or destructively interfere with the rising hot air forming a standing wave.

3.2. Standing Waves and Resonance

The standing wave is cause by the

!nterference of _the reflected wave on Fundamental harmonic,
itself. A standing wave consists of -

nodes (areas of least particle and

velocity displacement) and antinodes 1" harmonic (2"
(areas of maximum particle and overtone), f,

velocity displacement). The standing AN AN
wave causes us to hear a continual tone. 2" harmonic (3"

Resonance is caused when the standing overtone), f, ><><><
wave is continually reinforced, the ' S S w—

amplitude is increased creating a very
loud sound, the air column in the pipeis
said to resonate.

3.3. Harmonic frequencies
For the tube to resonate, the tube length must be a multiple of half wavelength of the
standing wave, we can express this as nA=2L, where A is the wavelength, and L is the tube
length. The first harmonic is called the fundamental harmonic (fo) and only has one nodal
point in the tube. Higher harmonics are multiples of the fundamental (seefigure 2).
From the wave equation, v=fA, where v is the velocity of sound, and the relationship
above, we can derive aformulafor the frequency [2].

ny

2L
V=f/1=f7 nA=2L f=5r

However, the air particles also vibrate with a slight sideways motion, and beyond the end of
the tube. Thisresultsin anecessary ‘end correction’ [3], where d is the diameter of the tube.
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For the fundamental frequency (n=1), and at a temperature of 34°C (where v, the speed of
sound is 351ms™), the frequency becomes:

~ 1
e )

4. Sustaining the acoustic wave

Some of the wave and thus energy escapes and is emitted at the end of the tube. Therefore
heat energy must be added to sustain the oscillations. There must also be a continuous air
flow; we demonstrated this by turning the tube to horizontal, which removed the thermal
convection. As predicted, the tube did not sing.

4.1. Veocity and Pressure Fluctuations

The flow past the gauze is a combination of two motions. There is a uniform upward
velocity, caused by the rising hot air, and a varying velocity, u' caused by the sound wave
(oscillatory particle vibration velocity).

There is an ambient or mean pressure, as well as the varying pressure, p' caused by the
compressions and rarefactions of the acoustic wave.

4.2. Amplifying the wave

For haf the cycle, the varying and uniform velocities are in the same direction, which is
when the particles around the gauze are vibrating upwards, in the same direction as the
thermal convections. Therefore, air will be drawn up into the tube until pressure reaches a
maximum. Most of this air will already be warm (having been expelled from the hot tube
during the last cycle). However just before the pressure reaches a maximum, some cool air is
drawn in, this is because the uniform thermal convection pushed some of the warm air out of
the top of the tube last cycle. This cool air is quickly heated by the hot gauze, so there is a
large heat transfer. This causes the (previously cool) air’s pressure to increase, adding to the
pressure maximum. Therefore, although energy is being lost at the top of the tube, every cycle
a small part of the gauze's heat energy is used to increase the pressure maximum, thus
amplifying the wave.

4.3. Optimum gauze position

Since the singing is caused by cool air increase in pressure, there two things which must be
considered when determining the optimum gauze position. First, the placement of the gauze
should be such that the amount of cool air heated is optimised. As it is the combination of
varying and uniform particle velocity that determines how much cool air gets heated, this
would suggest that the gauze should be placed where the varying velocity is at a maximum, at
the anti-node, for the fundamental frequency, the anti-node is at the end of the tube.

The second aspect to consider is where the cool air's pressure increase will have most
impact. The pressure increase reinforces the varying acoustic pressure, but at an anti-node, the
varying pressure is zero, so placing the cool air’s pressure increase would have no effect. The
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varying pressure is at a maximum at a node, so according to this, the gauze should be placed
at anode, which is at the middle of the tube for the fundamental frequencies.

These aspects clearly disagree, so al this tells us is that the optimum position is a
compromise, somewhere between the end and middle of the tube. The Rayleigh Criterion isa
mathematical description of the interaction between pressure and velocity fluctuations and
allows for more precise optimisation of gauze placement.

5. The Rayleigh Criterion

As energy escapes at the top end of the tube, to sustain the acoustic wave, heat energy must
be added at certain points, according to the Rayleigh Criterion [5]; “If heat be given to the air
at the moment of greatest condensation, the vibration is encouraged”. This means that most
heat must be added in a compression. Please see section V of the Onera short lecture course of
Combustion instabilities in liquid rocket engines [6] for a mathematical proof and derivation
of the Rayleigh Criterion.

5.1. Velocity and Heat Transfer

When there is a large heat transfer, many particles get heated and thus, many rise, this
creates a large varying velocity. So the heat transfer, Q' creates the varying velocity, u’.

As mentioned previously, when cool air is drawn in, heat is transferred easily so the heat
transfer, Q' islarge. When the varying velocity, u’ is down and against the upward flow, there
is little airflow, less cool air is drawn in, and the gauze is surrounded by warm air. Therefore
thereisless heat transfer, Q' issmall.

So Q' varies with u’, and there may be a time lag (as it is a cause and effect, rather than

simultaneously). This can be expressed by: Q' a M,. Where 1 is the time lag. In summary,

the heat transfer is creates the varying velocity, and it is sustained by the varying velocity, so
once the cycle isinitiated, the waves are sustained.

5.2. Rayleigh Criterion Integra

The Rayleigh Criterion can be expressed as“If p' >0and Q' >0orp <0and Q' <0, the
wave is sustained” where p’ is the acoustic pressure, and Q' is the heat transfer. A convenient
way to express this statement is in the following integral, where T is the period of the wave,
and R isthe Rayleigh index [7]:

1
R=—|p'Q'dt

TIpQ
The Rayleigh Criterion can now simply be expressed as if R > 0 the wave is amplified. Sound
intensity will be greatest when | is maximised.

5.3. Optimum gauze position

The optimum gauze position (for sound intensity) will occur where the Rayleigh Index,
R, ismaximised. It was seen in section 5.1, that the heat transfer is proportional to the varying
velocity, Q" @ 1’ sp R is proportional to the product of acoustic pressure and velocity.

1 1 Now we need to maximise p’ u'. It was explained in
R= —jp'Q'dt < R oc—jp'u'dt section 3.1, that the acoustic pressure and velocity

r r are sinusoidal:

o Recp'u'
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Since we are only concerned with proportionality, and uy, and pm are constants (maximum
amplitudes), they can be neglected:

R o< cos{kx — ax)sin(kx — ar)
Here we can substitute in the trigometric identity, 2 Sinx cOsX = SIN2x:
1.
Re< Esm2(kx—a)t)
R o< sin2(kx— )

This function has a similar shape to the function for acoustic pressure, but it has half the
period, therefore, R will be at a maximum halfway between the end of the tube and the node
in the centre of the tube, where the pressure has a maximum:

Velocity
Acoustic
Rayleigh index

N.B. waveforms are for comparative purposes only; the amplitude of the Rayleigh index
winiild he diffarant diie tn ronatante nf nroannrtinnalityy

Figure 4 Diagram showing that the Rayliegh index is proportional to the product of velocity and

pressure, and is at a maximum 25% up the tube, thus this is the optimum position for the gauze

So the optimum gauze position is where R is at a maximum, which is 25% up the tube, and
the sound intensity should follow a similar sinusoidal curve to the Rayleigh index as the
gauze is moved along the tube. This supports the qualitative explanation presented in section
4.4,

5.4. Gauzein upper half of tube

However, by this logic, a sound should be created when
the gauze is 75% up, as thisis also halfway between the
fundamental node and anti-node, however, the cool ar is
drawn towards the centre just before the pressure
maximum, and is pushed up past the centre after the
pressure maximum. When the gauze is in the top half, the

Figure 12 Using a vacuum cleaner to

reverse the air flow, changing the

optium gauze position
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cool air is heated just before the pressure minimum, so the increase in the cools air’s pressure
cancels the acoustic decrease in pressure, thus diminishing the sound.

We proved this by reversing the direction of the thermal convections with a vacuum
cleaner. This pushed cool air in from the top rather than the bottom. When using an artificial
air flow, a sound was created with gauze in the top half.

6. Heat Transfer

It has been demonstrated that the gauze will transfer little heat in a rarefaction, and lots
in a compression, but how much heat is transferred, and what effect will this have on the
singing time? Expressions for the amount of heat transfer will be derived in the following
sections.

6.1. Heat Transfer Expressions

Let us first examine where the heat from the gauze is lost to heating the air to provide
the uniform thermal convection, sustaining the acoustic wave (heat transferred to cool air,
discussed in section 7), and losses, which will be predominantly through conduction to the
tube walls. The heat absorbed by the gauze through heating must transformed to the energy
formslisted above, as energy is conserved, these must be equal.

This can be expressed in adifferential equation as;

ngauze — dQconvection + dQ"mmed wave + dQlosses

dt dt dt dt

Where dQ/dt is the rate of heat transferred (measured in Joules per second). The
standard equation for heat transfer to the gauze during heating is[2]:

anhsorhed by gauze dTgauze
o =c,m, 7 Where ¢y is the specific heat capacity of the gauze,

My is the mass of the gauze, and dT/dt is the change in temperature of the gauze. The heat lost
through convection to the air can also be modelled by the standard heat transfer equation [2]:

do i dar .

= thr(zhconvwlon = C, My, # Where c4; is the specific heat capacity of air, M,
is the mass of air, and dT/dt is the change in temperature of the air, after passing the gauze.
The average rate at which kinetic energy, Ex of a sound wave escapes can be expressed as. [1]

AQ,ined wave - dE, :i pAvszz Where p is the density of air, A is the cross-
dr dt 16 " i e

sectional area of the tube, v is the velocity of the wave, o is the angular velocity, and s, isthe
displacement amplitude. Most of the losses will be thermal conduction to the tube walls, this
can be modelled as follows:

debe — kA(Thm _ 71 Old) = thube — kA dT;ube
dt dt dt
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Where k isthe thermal conductivity co-efficient.  These components can now be

combined, so the original equation:

ngauze — dQconvection

dQemitted wave + dQlosses

+ .
dt dt dt dt Becomes:
dT ‘
mc,—~=m_c, ALy + 1 PAVD’SE + kA—dT’“be
£8 dt dt 16 dt

6.2. What can this expression tell us?

This expression reveals the limiting factor which affects how much heat must be given to the
gauze for singing to occur, and how long the tube will sing for. The tube will start singing
when:
dT 1 dT . 1 dT
ST > m,c,. —2+-— pAv@’s’ + kA —"1
dt mgc, dt 16 dt

To keep singing, the gauze must have enough heat or a large enough temperature gradient to
provide constant heat to the air convections and losses to the tube. So the tube will stop
singing when:
dr,,.. 1 dr. 1 dT,
= < air airi+_pAvw2Si+kA¢be
dt 16 dt

dt mc,

Therefore, this expression reveals many factors and variables which affect the onset and
discontinue of the singing. The type of gauze will have an effect since the expression starts,
1 , and both the mass and specific heat capacity are properties of the gauze, since it is the

mgcg
inverse of mass, the tube should sing for earlier and for longer when a heavier gauze is used,
since a heavier gauze could absorb more heat. The atmospheric conditions will aso affect the
singing, since at different temperatures and humidities, the specific heat capacity of air
changes. Also, if the air starts of warmer, then the change in temperature as it passes the
gauze (dT/dt) would be less. This is why
al the trails for an experiment were
conducted on the same day, or when the
temperature is similar (within 3 degrees).

The cross sectional area, A, which is
directly proportional to the diameter,
appears in al three terms on the left had side
of the heat transfer expression (Mg, = Avpt)

and so that is why the cross sectional area
was a controlled variable in experiments,
and tube diameter was chosen to be  Figyre 13 vacuum cleaner used to replace the
investigated as an independent variable. sy

thermal convection, the tube sings in a horizontal
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in 3 term is the displacement amplitude, it describes how far the particles vibrate and thus
determines sound intensity. Thisiswhy either sound intensity or singing time were measured,
because they effect each other.

dT;ube
In the very last term, kA—, k is the thermal conductivity co-efficient, which is a

dt
property of the material, this highlighted the importance that the tube material has, which is
why the material was investigated as an independent variable, and controlled in all other
experiments.

7. Stopping the singing

There are three methods of stopping the tube from singing; hold the tube horizontally,
place heat source under tube, and let the gauze cool.

When the tube is held horizontally, there is no thermal convection, so no cool air brought
in contact with the gauze, so the wave cannot be amplified (we demonstrated that it was the
lack of thermal convection preventing amplification by using a vacuum clean to produce
artificial convections). When the Bunsen burner or another heat source is under the tube, the
air passing the gauze has aready been heated, so with no heat transfer possible, there is no
pressure increase to sustain the acoustic wave. As the gauze losses its heat energy to the
passing air, it will gradually cool, until it is no longer able to supply enough energy to
facilitate a pressure increase, and sustain the wave.

8. Cold Gauze

The change in temperature between the gauze and the air causes the phenomenon;
therefore, a similar sound can be produced with a gauze which is cooler than the surrounding
air. A weak sound was produced when cold gauze (from freezer is sufficient in the Brisbane
summer) was inserted 25% up the tube. The cold gauze causes a downwards convection
current, so warmer air is drawn in at top just before the pressure maximum, and reaches the
gauze in the bottom half just before the pressure minimum, the warm air is rapidly cooled by
the gauze, its pressure decreases, enforcing the pressure minimum.

9. Our Investigations

9.0. General Procedure

The 1mm steel gauze was inserted
Y, of the way up each tube. The
Bunsen burner was did under the
tube and 10 seconds later, the
Bunsen burner was removed and
another person recorded the
singing with the microphone. This
was repeated for al the tubes, five
times then averaged.

Figure 14 Sample datum collected and demonstration
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9.1. Tube Length
9.1.1. Hypothesis

As the tube length increases, the wavelength of the sound will increase, and therefore its
frequency will decrease. The frequency and tube length should have the following

relationship: f = 175.5(L 1 4dj . As the tube diameter was constant, the graph of frequency
+
1 :
vs. ———— should be linear.
L+0.4d
9.1.2. Results
1400 There was an audible difference
1200 F = 352 /(L+0.4d) in pitch between the ‘singing’ from
oM d Fund tal R”=0.9955 o
e the larger and smaller tubes, this is
10001 evidence that the frequency was
< 500 | changing. The longer tubes
g produced a weaker tone.
2 600
s
400 -
200 4 F =177 /(L+0.4d) Figure 4 Graph of results from Tube
R®=0.9893
0 T T T T T T
0 05 1 1.5 2 25 3 35 Length experiment, linear relationship

1/ (L+0.4d) (1/m)

9.1.3. Discussions

We derived in section 4.3 that the fundamental frequency (at 34°C) was given by:

L+0.4d

gradient of 175.5. In the experimental results, the linear relationship is reasonable since the
datum points are scattered on both sides of the line, the R? value is 0.9893, and the
uncertainties are small. The measured gradient was 177 + 4. Therefore, the Harmonic
equations derived in section 4 are accurate (within the uncertainty) and our hypothesis was
supported. We have also consolidated the knowledge on which these equations were
derived.

1
f =l75-5(—j So in the above graph, a linear relationship predicted, with a

9.1.4. Conclusions and Reflections

In section 9.1.3.1. it was observed that the sound volume and therefore intensity decreased
as the tube length increased, this was unexpected, and upon further qualitative experiments,
when heated for alonger period of time, the longer tubes ‘sung’ with more intensity than the
shorter ones. One possible explanation for this discrepancy is that in longer tubes, the gauze
is further from the Bunsen burner flame, so more of the flames heat may have been used to
heat the longer air column and tube wall in the longer tubes than in the short tubes. Hence,
an improvement to the procedure would be to measure the temperature of the gauze, and
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stop heating once a certain temperature had been attained, rather than heating for a specific
duration of time.
9.2. Tube Diameter

9.2.1. Hypothesis
As the tube diameter increases, the frequency will decrease. The relationship should be

f :175'5(L (1)461} In this experiment, the tube length, L was constant, so the graph of
+0.

1
frequency vs.
& y L+0.4d

should be linear, with agradient of 175.5.

9.2.2. Results
The effects of changing tube diameter on frequency For tubes bigger than 20cm

350 in diameter, it became increasingly

o | difficult to produce a sound. The
N 320 | larger diameter tubes had a larger
35310* sound intensity until they stopped
g o] y=175.49 producing a sound. There was
g Rf=09951 very little audible variation in

270 | pitch, since the frequency only

2607 varied ~10%.

250 T T T T T

1.7 1.75 1.8 1.85 19 1.95 2

1/(L+0.4d) , 1/m

Figure 6 Graphed results from Tube Diameter experiment, linear relationship

9.2.3. Discussions

We derived in section 4.3 that the fundamental frequency (at 34°C) was given by:

f :175.5(L éMjExperimentally, there was a linear relationship between the frequency
+0.

and 1/(L+0.4d). Since the points at scattered both sides of the line, with an R? value of 0.9952,
this relationship is reasonable. In the above graph, the predicted gradient was 175.5, and the
measured gradient was 174 + 5. Therefore, (within the uncertainties), it has again been show
that these Harmonic equations are accurate. We have also supported our hypothesis, that as
the tube diameter increases, the sideways vibration of the particles and therefore the tube’s
end correction increases, thus frequency will slightly decrease. However, it was observed in
section 5.2.3.1 that this effect was less noticeable than it was when changing the tube length
in experiment 5.1. This is because in our derived equations, tube diameter is multiplied by
0.4, so is decreased, and the diameter of all the tubes was less then their length, thus changing
the diameter of the singing tube had less of an effect than changing the length. The increase
in sound intensity with increasing tube diameter is due to alarger air flow since there is more
hot gauze available to heat the air and cause the thermal convections.
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9.2.4. Conclusions and Reflections

In section 5.2.3.1, it was observed that it became difficult to produce a sound when the tube
diameter was greater than 0.20m, and the sound intensity decreased. A possible explanation
for this is that will a wide tube, the barrier of pressure difference necessary for the travelling
wave to reflect and cause a standing wave becomes unstable and weak, due to a less defined
‘end’ of the tube. This would cause only some or none of the wave to be reflected, producing
aweaker standing wave. One possible method of testing this would be to use a very sensitive
pressure probe, so detect the strength and location of the barrier, such a sensitive instrument
was not available for our use.

9.3. Tube Shape:

9.3.1. Hypothesis

Since it isthe column of air that resonates, not the tube its self, changing the horizontal shape
of the tube should have no effect, aslong as the tube still contains aregion of air.

9.3.2. Results
Shape \
Approximation \ / \ / / / \ > < < <
% changein 200 400 50 25 0 (centre =200%) 0
diameter
observation Wesak | Nosound | Normal | Nosound | Gauzewouldn’'t | Slightly weaker
sound sound stay in, No sound sound
Frequency 221 - 226 - - 213

Table 4 Frequency and observation results from Tube Shape experiment

9.3.3. Discussion

There did not appear to be any clear trend in changing frequency (al values were within
the 23Hz margin of error). In addition, our hypothesis was supported in the fact that the
frequency is independent on the shape (this is because the tubes purpose is to channel the
rising hot air, and provide boundaries for the air column that resonates, neither of these
properties are affected by slight changes in tube shape.)

9.3.4. Conclusions and Reflections

Tube shape has little effect on frequency.

It was observed in section 5.3.3.1 that for some shapes, the sound was weak or non-
existent, which contradicts the hypothesis that shape has no affect. A possible explanation is
that it is not the shape of the tube that is inhibiting sound production, but rather the diameter
at either end. As experienced in section 9.2.3.1, if the diameter at the top or bottom of the tube
IS too great, no definite barrier of pressure exists, so the standing wave cannot by created. A
possible further experiment would involve using tubes of the same proportion, or same
percent increase in diameter, but are smaller, as this would determine if a breakdown in the
pressure barrier was responsible for the weaker sound. The curved tube may have produced a
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weaker sound because the Bunsen's heat was not directly under the gauze (it was under the
end of the tube), so the gauze may not have been heated as effectively.

9.4. Tube Shape:
9.4.1. Hypothesis

Since it is the column of air that resonates, not the tube its self, changing the vertical cross
section of the tube should have no effect on the frequency and sound intensity, as long as the
tube still contains aregion of air.

9.4.2. Results
Circular Square Triangle
Frequency (Hz) 235 235 237
Observation L oudest sound Weak sound Weak sound

Table 5 Frequency and observational results from the Tube Shape (horizontal)
experiment

9.4.3. Discussion

Since sound is alongitudinal wave, and it is the air not the tube that resonates, there was no
noticeable effect on frequency (within the 10Hz uncertainty), supporting the hypothesis. The
observation of the sound being strongest with the circular tube was unexpected, and difficult
to explain, our best inference is that there is more air flow in circular tube because the
triangular and sguare tubes had corners, and a larger internal surface area. This may cause a
larger boundary layer, so the air flows slower in the corners and the gauze in the corner areas
doesn’'t heat as well, so the useable area in the square and triangle is effectively reduced to
that of asmaller circle (see figure 4). This would account for the decrease in sound intensity.

Areaof circle= Areaof square=3.14 Areaof triangle=3.14
314 Areaof circle= 247 Areaof circle=1.05

Figure 7 Although all tubes had the same area, this diagram shows that since air got caught in
the corners, the shaded usable area likely decreased.
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9.4.4. Conclusions and Reflections

Tube shape had little effect.

An interesting further experiment would involve electricaly heating the gauze, to ensure
even heating, and having an artificial airflow though the tube, this would help determine if the
reasons behind the observed changesin sound intensity.

9.5. Tube Material
9.5.1. Hypothesis
We saw in section 6 that if the change in temperature of the gauze becomes less that the

that required to heat the convecting air, the tube and sustain the kinetic energy of the wave,
the tube stops singing, this was explained thus: when

dt m.c dt dt

dT .
s < 1 m,c,. e + 1 PAVWs’ + kA—dT’”be
i 16
8§ 8

The tube stops singing. The k in the last term is the thermal conductivity of the tube. So
from this equation we can see that as the thermal conductivity of the material decreases, the
tube will sing for longer, as the gauze needs a lower temperature to sustain the wave. When
the thermal conductivity of the tube material increases, the gauze needs more heat, and so will
not be able to sustain the singing for as long. As sound is a longitudinal wave, the tube acts
only as the boundary for the air column inside which vibrates, therefore the frequency should
be unaffected by the tube material.

9.5.3. Results

Material iron | steel | aluminium | PVC | wood | Glass | Paper | Plastic | cardboard

Thermal conductivity [ 79.5 | 50.2 205 019 | 01 0.8 0.05 0.02 0.07

frequency 218 | 219 215 223 | 223 | 223 - - 223.5

Singing time 26 27 24.3 39.1 | 395 37 - -

Table 6 Frequency and Singing time results for materials of different thermal conductivities

The paper and thin plastic tubes did not sing because they combusted.

The effect of the themal conductivity of materials on The effect of different materials on frequency
the Singing Time

50000 y = -30191x + 49746
R? = 0.9981

48000 4

46000 4

42000

45 — -0.064
20 y = 35x

2 _
35 R” = 0.9865

N
a
frequency squared (Hz"2)

Singing time (seconds)
w
o

0 0.02 0.04 0.06 0.08 0.1 0.12

0 S0 100 150 200 250 Thermal conductivity/mass*specific heat capacity, k/mc (1/ms)

Thermal Conductivity (W/mK)

Figure 9 The effect of thermal conductivity of the tube on the Singing time and frequency
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9.5.4. Discussion

The hypothesis stated that as the thermal conductivity increased, the tube should sing for
less time, since more of the gauze' s heat was conducted away to the tube. This was supported
experimentally and an exponential relationship was found. However, the hypothesis stated
that there should be no effect on frequency, however this is not what we found
experimentally; there was variation in frequency for the different materials. Therefore, after
brainstorming the differences in the materials, and what could cause the frequency to change,
the relationship was realised. Some materials conduct heat away from the gauze and air more
than others. Tubes with a high thermal conductivity will conduct heat away from the gauze
eadlly, so the gauze is cooler and will not sing as long as it will in tubes with a low thermal
conductivity. Recall from section 4.3. the equation for frequency:

v .
f — , forsamesizedtubes, L andd areconstant f o<V

20+0.84

As long as the tube length and diameter are kept constant, the frequency is directly
proportional to the velocity of sound. However, the speed of sound is not constant, it depends
upon the temperature.

v =IRT ¢ R and y areconstants \VOC’\/? [4]

So now it is clear that frequency has a squarely relationship with temperature:

f e T f?o<T However, we do not know how the different materials change the
temperature in the tube. Recall the equations regarding temperature and heat from section 6,
the information concerning their thermal conductivity, k, and specific heat capacity, c is
available. Thermal conductivity is a measure the rate at which heat is transferred per unit area.
Since all the tubes had the same dimensions, Heat lost is proportional to the thermal

conductivity, Qo< k.

Heat lost can aso be expressed in terms of the mass and specific heat capacity of the tubes,
Q=mcT. Therefore, it means that:

fPoeT
k
OQ=mcT <k & T oc—
mc
. . 2 k 2
So this predicts that a -+ f° o< — graph of ° vs. k/mc should
mc

be linear. Experimentally a linear relationship was
found. This relationship is reasonable since the R? value is 0.9981. The relationship had a
gradient -30000+1200, and intercept of 50000+4000HZ>. This means that if the tube were a
perfect insulator (k=0) then the frequency would be 223Hz=\50000

9.5.5. Conclusions and Reflections

Freguency and the thermal conductivity of the tube have the following relationship:
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#2 =-30000-% 150000

mc
materials with a wider range of thermal conductivity values, as the PVC, wood, glass and

cardboard tubes all had similar values. Although the hypothesis was proved incorrect, more
interesting discoveries were made as a result.

. It was felt that this experiment could be improved by having

9.6. Gauze Position

9.6.1. Hypothesis

It was discovered in section 5.3. that the Rayleigh Index and therefore the sound intensity
follow a sinusoidal function with respect to the position of the gauze in the tube. This sine
curve has a period of the length of the tube (100%), and a maximum at 25%. The graph of
sound intensity vs. the sine of the product of 3.6 and gauze position should be linear. (3.6
alters the normal period of the sine function (360°) to the length of the tube, 100 (%). 3.6=
360/100)

9.6.2. Results

The tube did not sound at all when the gauze was in the upper half. The computer program
recorded background noise, so although seven was the lowest sound intensity recorded, the
tube did not contribute to this, and was silent at the time.
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Figure 10 Graphed results for sound intensity from the Gauze Position experiments
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Figure 8 Linear relationship of Gauze position results




9.6.4. Discussion

As predicted, sound intensity and the sine of 3.6 times the gauze position had a linear
relationship. This relationship is reasonable, as the R? value is 0.9862, and the data points are
scattered both sides of the line. However, on this graph there were often two data points for
the same x value. Thisis because the sine function increased then decreased so in the first two
graphs the same y value is reached twice. In an idea world, these points would always be
concurrent, and the distance between them represents the error in this experiment. The
equation which this linear relationship representsis:
1=78sin(3.6gp)+8
Where |, is the sound intensity and gp is the gauze position. The gradient of the linear
relationship was 78 = 3, and this represents the amplitude of the sine function (of sound
intensity vs. gauze position), or the maximum sound intensity achieved. The intercept is8 + 2
dB, and this represents the background noise picked up by the microphone.

The linear relationship did not continue when the gauze was in the top half of the tube, as
the sinusoidal function predicted negative sound intensities, which are impossible.

9.6.5. Conclusions and Reflections
The hypothesis was supported; the position of the gauze in the lower half of the tube had a
sinusoidal relationship with the sound intensity, the relationship is: 7=78sin(3.6gp)+8

It was felt that the errors and uncertainties in this experiment were quite large, and only
just acceptable, the main reason for this was the unpredictable background noise, so the
experiment could be improved by conducting the experiment in a silent environment, or one
with a uniform background noise.

9.7. Heating Time
9.7.1. Hypothesis

As seen in section 6, the heat absorbed by the gauze is lost through convection to the air,
conduction to the tube, and in the kinetic energy of the sound wave, so the singing time will

depend on how long the heat from the gauze is greater than these loses. This is demonstrated
in the following equation: when

dT |
=L 1 (maircair Ty + ] PAV@’s? + kA ipe j
dt m,c, d 16 dt

The tube stops singing. Therefore, the singing time depends on the temperature or heat
absorbed by the gauze just before it starts singing. The temperature of the gauze while heating
dTgauze
dt
that initially, when the gauzeis cold, it will heat very quickly SO Tounsen — Tgauze iSlarge, but as
the gauze heats up, there will be a smaller temperature difference, until heating the gauze any
longer won't make much difference. When you differentiate Newton’ law of cooling and
heating, you get a logarithmic relationship between the heating time and the temperature of
the gauze. We could not derive the exact relationship between singing time and temperature
of the gauze (and therefore heating time), due to the large number of variables in the heat
transfer equation above, however the logarithmic relationship will still be present.

= kA(Tbunsen - Tgauze) This means

can be modelled by:(Newton's law of Cooling)
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9.7.3. Results

The affect of heating time on the singing time
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Figure 11 Graphed results from the Heating Time experiment
9.7.4. Discussion

Experimentally, there was a logarithmic relationship between heating and singing time.
This relationship is reasonable, since the R? value is 0.9872, and the uncertainties are small,
but the scatter of points indicates that there may be other factors of consideration. This may
be due to the effect of heating the air aroung the gauze at the same time as heating the gauze.
This supports the hypothesis that the relationship between heating time and singing time
should be logarithmic because singing time is approximately proportional to the temperature
of the gauze (after heating), and the temperature of the gauze after heating has a logarithmic
relationship with heating time.

9.7.5. Conclusions and Reflections

As predicted, increasing the heating time increased the singing time, in the relationship.
Isin ging = 7-6|n(fhean'ng ) . It was felt that this experiment could be improved if the gauze could

be electrically heated, as then the amount of heat could be calculated directly from the amount
of electrical energy put in. This would simplify equations and reduce error; however,
unfortunately we did not have access to the voltages required. Further investigations into
measuring the temperature inside the tube, around the gauze with a thermocouple array would
help to determine if Newton's law can really be applied, in that it is justified to treat the
system as a closed system with just the gauze and the Bunsen burner flame.
10. Summary

The singing tube phenomenon is caused primarily by a compression drawing in cool air,
which encounters the gauze, heats and increases in pressure, this adds to the pressure
maximum. The optimum gauze position is determined by where the most cool air will be
drawn in, and where the cool air’s pressure changes will have the most effect. The Rayleigh
Criterion and the Rayleigh Index model this, causing the sound intensity, I, to have a
sinusoidal relationship with gauze position (gp, measured in percent): 1=78sin(3.6gp)+8
The standing wave, which this sets up, has a frequency determined by the tube length and

. The frequency is also determined by the ¢ = 175,5( é
L+

) diameter through the expression:

k
The f?= ~30000—"—+50000 thermal conductivity, k, of the tube material in the relationship:
standing wave is longitudinal, so is mainly unaffected by changes to the shape of the tube.
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The heat transferred from the hot gauze to the air, tube and acoustic wave can be modelled
dT dT
tube

ar, 1
. gauze air 2 2
bv the expression: M,C, ———— = maircair —_—t — AVC() Sm + kA
YIS SPIESon: et gy i 16" dt
This expression and Newton’'s law of Cooling lead to the relationship between the time the
gauze is heated, and the time the tube sings: ’sings = 7.6IN(theated) |

This applicable and interesting problem has been thoroughly investigated, and many
relationships have been found. The discovery of the relationship between gauze position and
sound intensity: 7=78sin(3.6gp)+8is of particular scientific significance. This is because if
the maximum sound intensity allowable by a system (such as the vibration limit at which a jet
engine would start to break up) is known, then this equation can effectively predict were and

were not a heat source must be located in order to prevent these dangerous vibrations. For
example, the optimum point of fuel ignition in ajet engine can be determined.
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8 Problem Ne 11: Singing tube
8.1. Solution of Australia

8.1.1.Review of solution of Australia

Review of the solution of the problem number 11 - Singing tube

A tube open at both ends is mounted vertically. Use a flame to generate sound from the tube.
Investigate the phenomenon.

The problem itself is very interesting from both theoretical and experimental point of view. It
opens possibilities to perform number of experiments on the high-school level with a great
probability of success. Theory of the problem can be found in many articles under the key-
words of Singing tube or Rijke tube. However, these solutions are not complete and allow
further investigation of dependencies.

Solution from Australia

Solution presented by Kathryn Zealand fully develops the quality of the assignment into a
serious high-quality paper. The structure is appropriate; begins with basic definitions and
interpretation of the problem, continues by theory explanation and culminates by extensive
comparison of theoretical and experimental results. All relevant parameters as length and
diameter of the tube, shape of the tube, materia of the tube, position and intensity of the heat
source were examined. As akind of “bonus’ also exotic configurations as reversing of the air
flow by vacuum cleaner or using “cold source” rather than “heat source” in the upper half of
the tube where used. | would like to cite one sentence from a discussion part of the paper,
covering the tube material dependences: “Although the hypothesis was proved incorrect, more
interesting discoveries were made as a result”. It reflects the honesty, with which the work
was performed and which is so often missing during Y PT presentations and discussions.

Only minor suggestions to improve the paper can be done. The layout could show better by
using a smaller line-spacing; this would also reduce the length of the paper, 26 pages may be
considered as too much. Also pictures and graphs should be placed strictly within the
printable area of the page and formulas should be centered in extra lines. Usage of gauze
instead of the flame itself could be discussed more thorough.

In summary, the presented solution goes far further than | would expect. It is complete,
accurate and clearly written. In I'YPT grading | would not doubt to show the highest grade 10.

Dr. Martin Plesch

Institute of Physics

Slovak Academy of Sciences
Dubravska cesta 9

Bratislava 845 11

Slovakia

116



9. Problem Nel2: Rolling magnet

9.1. Solution of Australia

Problem Nel2: Rolling magnet

Alexandra Price, Gregory Terrace, Spring Hill 4000, QLD Australia, Brisbane Girls Grammar
School, s106863@bggs.gld.edu.au

The Problem

Investigate the motion of a magnet as it rolls down an inclined plane.

Abstract:

An investigation into the motion of a magnet as it rolls down an incline seems somewhat
monotonous when first examined. However, extensive experimentation and research into this
problem yields some unanticipated results. The Earth’s magnetic field plays a significant role
in changing the path of the magnet as it rolls down a plane. This report contains four principal
investigations. First, the influence of the Earth’s magnetic field on the motion of a magnet
was investigated and it was found that the magnet deviates to different extents, depending on
the orientation of the magnet with respect to the magnetic field. Second, the effect of varying
the angle of incline was then examined. Third, the effect of changing the material of the
incline was investigated using wood and aluminium ramps. Finaly, further experimentation
into the effect of the Earth’'s magnetic field’s influence on neodymium magnets (super
magnets), although not quantitatively analysed, showed that the magnet’s strength can affect
the motion of the magnet to a greater extent than the Earth’s magnetic field.

1. Interpretation

1.1 Interpretation of Problem

The problem states “investigate the motion of a magnet as it rolls down an inclined plane”.
The Oxford English Dictionary (1) defines a magnet as “a piece of iron or steel to which the
characteristic properties of loadstone have been imparted, either permanently or temporarily,
by contact with another magnet, by induction, or by means of an electric current.” Rolling is
the “action (on the part of something) of turning over and over” (1). In the case of a cylinder,
it rotates around the centre of mass. Motion is the “process of moving” or of “undergoing a
change of place” ().

1.2 Assumptions

This investigation has three principal assumptions. First, it is assumed that the magnet is
cylindrical and therefore exhibits a rolling motion when released at the top of an inclined
plane. Second, it is assumed that the frictional forces exhibited on the magnet during its
motion are sufficient to ensure the magnet only rolls down the plane and does not exhibit a
diding behaviour. Third, it is assumed that the environment the magnet is in has little
interaction with the magnet (ie. no steel beams, air resistance).
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2. Theory
2.1 Motion of acylindrical object
2.1.1 Dynamics Perspective
As the magnet rolls down the inclined plane, its magnetic field interacts with the Earth’s

magnetic field. The motion of the magnet down the slope is most easily analysed by breaking
It into its constituent components (figure 1).

macosO

Not Drawn to Scale

Figure 1 Components of a Rolling Cylinder

For acylinder to roll, static friction is required. It is assumed that the static friction coefficient
(us) is @ways large enough to satisfy (2):

f = u,mgcoso

where m is the mass of the cylinder, gis acceleration due to gravity and @ is the angle.

Taking this into account, the minimum static frictional force needed for rolling can be
calculated

1 )
F==—mgsn@
3 g

So, for acylinder of mass 0.069kg, and an angle of 1.15° to the horizontal, the force down the
plane is calculated to be 0.0045N down the plane. The trandational motion of the rolling
magnet along the incline was calculated (2-4)

F=mgsin@—f =ma

So, for the same cylinder on the same incline, the force along the incline is 0.0090N. The
rotational motion of the centre of mass (torque) was analysed (3)
=10

where a is the angular acceleration and o = % (3) (a isacceleration and R is the radius of the

cylinder) Im istheinertia at the centre of mass. For this example, the torque calculated was 2.86
x 10-5 N around the magnet. Torque, t, can be thought of as aforce at a distance, acting to turn
the magnet. The best way to calculate torque isto split it up into components (figure 2).
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Figure 2 Components of torque for a rolling cylinder

To calculate the value of the torque, the following equation isused (4): 7 = 7 X F

where F is the force vector and 7 is the vector from axis of rotation to point on which F is
acting.

In order to calculate the torque accurately, the restoring torque per unit of displacement was
calculated. This enabled the effective work of the torque at any angle to be calculated and
hence, the forces acting on the magnet. The period of oscillation was cal culated

-
k
where | is the moment of inertia of the oscillating body and k is the restoring torque per unit

displacement in radians. For a solid disk, such as a cylindrical magnet, the moment of inertia

at the centre of massis equal to (3)

1, =MR?/2
Where M is the mass of the cylinder and R is the radius. The period of oscillation for the
magnet used in the following experiments was measured by suspending it on astring and as a

result, the moment of inertia for the oscillating cylindrical body. In this case, k was found to
equal 4.78 x 10* Nm/radian.

2.1.2 Energy Perspective

The motion of a cylindrical object can also be analysed from an energy perspective where its
initial gravitational potential energy (GPE) is converted into kinetic energy as it rolls down
theincline (5)

3
mgh =—mv
S

Where the kinetic energy incorporates both linear and rotational kinetic energy (3)

“mvi+=1, 0 = Emv2
2 4

2
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with o representing the angular momentum of the cylinder. The velocity of the centre of mass
of adliding cylinder is(3)
Vcom = Zgh

However, for arolling cylinder, the velocity at the centre of mass is less than that of a digin
cylinder due to the potential energy being converted into both linear and rotationa kinetic
energy. Therefore, the velocity of the centre of mass of arolling cylinder is (3)

4
=.|=gh
V{,‘Dm 3 g
For example, when the height of the ramp is 0.020m, the velocity at the centre of mass of a

rolling cylinder is0.511ms™.

2.2 Effect of the Earth’ s magnetic field

2.2.1 The nature of the Earth’s magnetic field

The Earth’s north magnetic pole is located near the south geographic pole and the Earth’s
south magnetic pole is located near the north geographical pole (5). The angle between the
Earth’s north geographic pole and its North magnetic pole is called the angle of declination.
Presently, this angle is approximately 10° (6). The Earth’s south magnetic pole is actually the
same as the south pole of a bar magnet and the Earth’ s north magnetic pole is actually a north
pole of a bar magnet (figure 3). However, the magnetic axis is not aligned in the same
position as its geographic axis. In fact, magnetic north is approximately 1000km away from
geographic north (5). This is best visualised by figure 3 where the red arrows represent the
Earth’s magnetic field lines and the black circular arrow in

x\ the centre represents the direction of the Earth’ s rotation.
N f-The angle of the Earth's magnetic field in Brisbane is

about 56° to the horizontal (ground) (6) (figure 4).

However, it isvery weak at the surface because the surface
C ) is along way from the Earth’s dipole, having a tota
intensity of 0.05mT (6,7). The Earth’'s magnetic field

‘_// kextends over such a large area that the strength of the
K magnetic field is very uniform if you look at it over alarge
region (7).

N S
(geographic) (geographic)

Ground

Figure 4 The Angle of the Earth’s Magnetic field in Brisbane, Australia (5)
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2.2.2 The effect of the Earth’s magnetic field on a magnet

As aresult of like poles repelling each other and unlike poles attracting each other (8), the
Earth’s magnetic field interacts with the rolling magnet without physical contact (9). As a
magnet rolls down a plane from magnetic south to magnetic north (geographical north to
south) it deviates because of interactions with the Earth’s magnetic field depending on the

N orientation of the magnet. As a magnet rolls down
a plane, its north pole will attract to the Earth’'s
magnetic South Pole, causing it to rotate. At the
same time, the magnet’s South Pole is attracted to
the Earth’s magnetic north pole. This concept is
best envisaged by examining figure 5 where the
N- S sC_ 0O N ramp is positioned so that the magnet rolls down

the incline from magnetic south to magnetic north.
7 g The best way to think of thisinteraction in order to
investigate it quantitatively is to think of the
magnet and the Earth’s magnetic field as two

Sseparate magnets.

Figure 5 Effect of the Earth’s
magnetic field on a magnet

2.3 Aluminium
2.3.1 Eddy Currents

A cylindrical magnet has a magnetic field travelling from one pole ///§A

to the other (figure 6). Asthe magnet rolls down the aluminium, its

magnetic field cuts the aluminium sheet producing eddy currents
which repel the magnet. N _ S

Eddy currents are caused by a moving magnetic field as it

intersects a conductor (5). The relative motion causes a circulating V’

flow of electrons or currents within the conductor.

Figure 6 Eddy Currents

These circulating eddies of current create N [

temporary electromagnets with magnetic fields o O
that oppose the magnetic field of the magnet Eddycurent —~

(figure 7).

Direction of rolling
magnet

L J

232 Lenzslaw Figure 7 Eddy Currents

Lenz's law states that ‘the current induced in a conductor by a changing magnetic field isin
such a direction that its own induced magnetic field opposes the change that produced it’ (5).
In the case of the magnet, as it rolls down the aluminium plane, eddy currents are induced and
the eddy current’s own induced magnetic field opposes the change that produced it (ie. the
magnet).
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3. Experimental
3.1 How will varying the direction of the ramp affect the motion of the magnet?

3.1.1 Observations
The magnet was observed to deviate less at the start of the roll and deviate more near the end
of the plane.

3.1.2 Results
The magnet’s magnetic field strength was measured to be 36mT using a Pasco magnetic field
Sensor.

Deflection - Wood

Direction

N NE E SE S SwW wW W
travelling
Mag N E W SE | NW | S N SW [ NE | W E NW | SE | N S NE | SW

Average 387 389 | 404 410 | 407 401 | 427 419 | 403 400 | 399 398 | 414 4.09 412 416

Spread 010 012 (025 015 | 011 023 | 019 020 | 011 019 | 025 015 | 018 0.28 016 021

Deviation | 0.06 0.07 | 0.17 008 | 0.07r 014 | 012 0.12 | 0.06 011 | 018 0.08 | 0.09 0.20 011 011

Where ‘Mag N’ represents the direction the north pole of the magnet pointsto.

Table 2 Time Results

3.1.3 Analysis of Results

Rolling Magnet Dev iation - Wood

<- clockwise Deviation mm anticlockwise ->

N NE E SE S Sw W NW

Incline Direction

This graph represents the deviation of the magnet when it rolled down the wooden plane.
The two x-values for each of the magnetic directions represent the magnet’s north pole
facing one direction and then flipped (ie. facing east, then facing west). The negative
values indicate that the magnet travelled in a clockwise direction and the positive values
indicate that the magnet travelled in an anticlockwise direction.
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Rolling Magnet Time

Time seconds

N NE E SE s sw w NW

Incline Direction

am—gm—\\/00d - North to Left @il \\/o0d - North to Right

3.1.4 Discussion

The graph indicating the deviation of the magnet as it rolls down the wooden plane shows that
changing the direction of the ramp results in a change in the deviation of the magnet i.e. the
deviation of a magnet is dependant on the direction of the ramp, supporting the hypothesis.
Although the Earth’s magnetic field only has a total intensity of 0.052mT in Brisbane, the
angle of inclination of the Earth’s magnetic field (56° to the horizontal) could have an effect
on the magnet’s motion as it rolls down the inclined plane. For example, as the magnet rolls
down the ramp towards north, with its north pole facing east, the magnet deviates
significantly in an anticlockwise direction. This is because the north pole of the magnet is
‘north-seeking’ and is therefore attracted to the Earth’s magnetic north pole. However, when
the magnet’s north pole was facing east, and rolling in a southerly direction, the magnet only
dlightly deviated in an anticlockwise direction. The variation in deviation when comparing the
deviation of the magnet rolling north and rolling south is attributed to the magnitude and
direction of the resultant vectors produced from the Earth’s magnetic field and the angle of
incline of the ramp. Where the red arrow represents the direction the magnet is traveling on
the ramp, at an angle of 1.15°. The blue arrows represent the inclination of the Earth’s
magnetic field and the dotted arrows represent the resultant vectors from each addition. This
force is trandated into torque and the magnet is rotated. When the magnet rolls in a southerly
direction, the resultant force is nowhere near as large, as aresult, little deviation occurs.

The increase in deviation as the magnet
rolled down the plane (an observation) is
attributed to it traveling at a faster speed
near the end and the effect of torque. This Figure 11. Resultant vectors

means that friction plays less of a role in

opposing the force that is turning the magnet. It also means that once the magnet has been
forced dightly off its straight path, the deviation will continue to grow regardless of external
magnetic forces. This deviation (excluding any external magnetic force) can be modeled by
the equation F =mgsin@cosa and used to estimate the final position of the magnet as it

rolls down the plane. In areal situation, with the external magnetic force present during the
whole experiment, the deviation would be greater than calculated using this formula.
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The graph of time versus direction shows, within
experimental error, that the time taken for a magnet to
roll down the plane with its north pole facing one
direction is the same as when the magnet’s north poleis
facing 180° (the other direction). When the magnet was
rolling north, it rolled down the ramp in the smallest
time. Thisis probably due to the fact that the magnet is
rolling down ‘with’ the Earth’s magnetic field. This
would have a resultant force with a large vector down
the plane, meaning that the magnet would receive an
v extra ‘push’ of energy that it would not receive if it was
traveling any other direction. The peak in time when
traveling southeast is attributed to the magnet deviating
the magnet in a clockwise direction for both trials.

The magnet making a moderately loud sound asit rolled
down the ramp is attributed to the 15% friction between
the two surfaces which was converted into heat and sound energy. Every effort was made to
ensure the trials were as analogous as possible. Each time the ramp was reorientated, the
magnet was placed at least twenty metres away to ensure minimal interaction. Experiments
were also conducted in a wooden house on a wooden table and as far away from any steel
beam supports as possible. However, it is highly likely, due to possible compass errors, that
the ramp could have been misaligned by several degrees, therefore altering the results. During
experimentation, the ramp was wiped down with a slightly damp cloth and left to dry every so
often to try and prevent excess friction due to dust and moisture particles. In order to
minimize error in timing, the person with the stop watch was the one who released the
magnet. Much thought was put into deciding the most accurate process to measure the
deviation of the magnet.

3.1.9 Conclusions

As the magnet rolls down the ramp, it tries to align its poles with the Earth’s magnetic poles
and as a result, the magnet deviates as it rolls. The deviation of the magnet from the weight
force providing the magnet has been misaligned (due to an external magnetic force) can be
modeled by the equation F =mgsin@cosa and used to estimate the final position of the

magnet asit rolls down the plane.
3.2 How will varying the angle of incline affect the motion of the magnet?

3.21 Hypothesis
Asthe angle of incline isincreased, the deviation will increase until acritical angle is reached.

3.2.2 Observations

By raising the angle of the incline, the magnet was observed to have deviated more. However,
if the ramp was raised past a critical angle (around 25 degrees), the magnet exhibited a dliding
behavior instead of rolling behavior.
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3.2.3 Reaults

Table 3 Deviation Results

3.5% incline 7° incline 10.5° incline | 14° incline 17.5°incline | 21° incline
Average 20.8 220 228 24.2 254 271
Spread 0.8 0.9 0.5 0.7 0.9 0.5
Deviation 0.5 0.5 0.3 0.4 0.5 0.3

3.24 Anaysisof Results

Deviation from Centre Line Vs Angle of Incline
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3.25 Discussion

The graph and its y-intercept value of 19.4 + 0.3, indicate that, within experimental error, the
deviation of a magnet from the centre line is directly proportiona to the angle of the incline
the ramp is placed at, provided the material and all other physical conditions remain constant.
The slope of the graph of deviation from centre line versus angle of incline within the
calculated experimental error of 0.02 equals 1.23 meaning that the deviation of the incline
increases at the rate of 1.23cm/°. So, for every degree the incline isincreased by, the deviation
of the magnet from the centre line is increased by 1.23cm. The straight trendline and its R
value of 0.9899 indicates that the ratio of deviation to angle of incline is constant up to and
including an angle of incline of 21°. The results therefore support the hypothesis saying that
as the angle of incline is increased, the deviation will increase. However, using the graph, the
relationship between the deviation and the angle of incline once the angle of incline is above
21° was not able to be modelled.

The dliding behavior exhibited by the magnet occurred because the resolved component of the
weight force down the plane provides a greater acceleration negating the frictional force that
turnsitie. f > u mgcos@. Given that the sliding behavior was observed when the angle of
inclination was greater than 25°, an approximation for the coefficient of static friction can be
calculated. To do this, we assume that the force down the plane (F) is equa to the force of
friction (f) and for the purpose of the following calculation, it is assumed that 25° is the angle
at which the rolling cylinder began to dlide.
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F=f < ma=ugmgcosed
a= [y X gXxXC0Sl > gsSiné =, x gxcosl

sné —tand
cosé

SiN@=ugxcosl < U=

- [l = tan 25° = 0.467

Given the inaccuracy of this calculation, due to having to guess the critical angle, this
calculation of the coefficient of static friction, w, , is further substantiated by Kurtus which

states that the coefficient of static friction for metal on glass is 0.5-0.7 (9). If the magnet
began to exhibit a diding behaviour, the magnet would travel faster down the plane than a
rolling magnet because al of a dliding magnet’s potential energy is converted into linear
Kinetic energy whereas a rolling magnet’s potential energy is converted into both linear and
rotational kinetic energy.

Due to the fact that a camera was unable to be used in recording the deviation, there is more
likely to be error associated with the measurement of the deviation. While every effort was
taken to eliminate error, the experimentation was conducted inside a concrete physics
laboratory building which increases the likelihood of errors in the measurements due to an
interaction with other magnetic materials, such as a steel support beam. | was also unable to
find a level, so the longitudina level was unable to be verified. There were also some
significant vibrations occurring in the classroom due to other people conducting experiments
with low frequencies. These vibrations may have caused error in the deviations.

3.26 Conclusions

The results support the hypothesis in saying that within experimental error, a plot of deviation
of magnet from the centreline versus angle of incline results in a linear relationship up until
and including 21°.

3.3 How will varying the material of the incline affect the motion of the magnet?

3.3.1 Hypothesis

Using an aluminium incline, as opposed to a wood incline, although having less friction, will
result in a slower time and a larger deviation of the magnet, due to eddy currents being
created as the magnet moves and acting to oppose the motion of the magnet.

3.3.2 Observations

For the majority of trials, the magnet was observed to deviate more on the aluminium plane

than on the wooden plane. The time taken for the magnet to roll down the aluminium plane
was significantly greater than the time taken to roll down awooden plane.

126



Results

Deflection - Aluminium

N NE E SE S SW W NW
Mag N E W SE |INW |S N SW [NE |W E NW [SE ([N S NE SW
Average (90.1 |-97.8 |76.2 |-87.5 [10.0 |-17.3 (-44.8 |43.4 |-78.7 |72.4 |-54.6 (426 |21.9 |-26.1 (88.1 -78.8
Spread 40 |30 30 |50 30 |20 4.0 7.0 |50 50 |5.0 50 |20 (40 |50 6.0
Deviation |2.1 [1.8 1.8 |35 20 (1.3 1.8 36 |27 26 |26 26 (1.1 (21 |29 3.8
Table 4. Deviation on Aluminium Results
N NE E SE SW W NW

Mag N E W SE NW S N SW NE W E NW SE N S NE SW
Average| 5.36 5.36 584 583 6.10 5.88 6.46 6.31 5.65 5.83 5.48 5.49 5.78 571 5.98 5.98
Spread | 0.12 0.09 0.18 0.24 0.13 0.14 0.19 0.14 0.32 0.33 0.20 0.30 0.33 0.26 0.23 0.24
Deviation| 0.07 0.06 0.07 0.15 0.08 0.07 013 0.08 0.19 0.18 0.12 0.15 0.17 0.19 0.12 0.14

Table 5. Time on Aluminium Results
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Rolling Magnet Time
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3.3.3 Discussion

The graph showing deviation of the magnet on material versus incline direction shows that the
deviation of the magnet, when rolled down an aluminium ramp is much greater than on wood.
All linesfollow similar curved relationships as the incline direction changes.
The deviation of the magnet on both aluminium and wood is the same when the ramp rolled
east. The minimum deviation for the magnet on aluminium occurs when it is travelling east
and west (approximately). Thisis because as the magnet rolls down the plane towards the east
(for example), the eddy currents produced are in a
E direction perpendicular to the
N earth’s magnetic field. As aresult,
there is no paralel force vector
which adds to changing the

P : direction of motion.
arth’s Magnetic ) .
Field When the magnet is rolling due
north on auminium, the eddy
«|l— currents have to act against the
Eddy|Currents —+— ’ : :
e N S Eath'smagneticfield
4_—
W Eddy|Cyrrents
AAAA 1 ‘
w Figure 13. Rolling North on Aluminium
Earth’s Magnetic Field
S

Figure 12. Rolling East on Aluminium

The time taken for the magnet to roll down the aluminium plane was significantly greater than
the time taken to roll down a wooden plane which is attributed to eddy currents opposing the
magnet’ s motion asiit rolled down the plane.

In order to attempt to calculate the effects of the eddy currents produced in the aluminium, it
was assumed that both the aluminium and wood had a similar static coefficient of friction,
4, . In actua fact, the wood had a slightly larger . This was measured by rolling down a
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non-magnetic cylinder of similar size to the magnet down each plane and measuring the time
taken for it to reach the end of the ramp.

Calculation of Current: Energy lost by magnet:

P=I°R = Js = 0.008)5.81s = 0.00138J's On wood (Ey) = 0.002]
On auminium (Ea) =

I°’R = 0.00138Js 0.010J

| = (0.00138/2.65x10°°)%° = 7.2 amps Ea — Ew = 0.008J

EMF=IR = 7.2 x 2.65x10” = 1.9x10™V Areaof eddies =
0.0025m*

Calculation of temperature increase: Av vel wood (vy) =

Shc = Energy x mass™® x Temperature™* = Jx kg x K* 0.48ms™
Av vel auminium (va)

Therefore, =0.33ms™

T = Energy x mass * x specific heat™™ = Jx kg x (Ix kgt x K~

hl=K Resistance of Al = 2.65
X 10° Q

T = 0.008J3.24kg/900 = 2.74x10°K Weight of whole Al =
3.24kg

There is no temperature increase which could be observed. Vol of Al =0.0012m*

With a temperature increase of 2.74x10°K, even with the large number of trials completed,
the temperature increase would be negligible because any increase would be lost to the
surrounding environment. Using the previous calculation for current and as aresult EMF, it is
possible to measure the magnetic field created to oppose the motion of the magnet asiit rolled
down the aluminium plane.

Where F¢ is the force of the electric field, Fg is the force of the magnetic field, g is the charge
on an electron, E isthe electric field strength, v is velocity, B is the magnetic field strength, V
is the voltage, d is distance, EMF is the induced voltage and L is the length of the conductor.
For the purpose of this calculation, the length of the conductor was taken to be the diameter of
the eddy currents combined. Given that the magnetic field strength of the magnet was found
to be 36mT, the value for the eddy current’s magnetic field strength of 7.35mT is acceptable.

Fp=Fp = gE=qVB

E=vB — K=%=VB v =0.33ms*
L EMF = 1.9x10%V
—4 L =0.08m
1.9x10 0338
0.08
B =7.35mT

The deviation of the magnet on aluminium when travelling south was 75% of the deviation
value when the magnet was rolling north. However, the deviation of the magnet when rolling
south on wood was a mere 25% of the deviation recorded when the magnet rolled north. This
is most likely attributed to the eddy currents creating a significantly stronger force than the
Earth’s magnetic field, meaning that it has more influence over the motion of the magnet than
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the Earth’s magnetic field does. On both the wood and aluminium ramps, the time taken for
the magnet to roll down the plane was greatest when it rolled in a south east direction and
shortest when it rolled north. Although it is very difficult to produce a justifiable explanation
as to why this occurred, the most likely cause is due to the angle of inclination of the Earth's
magnetic field.

Errors for this experiment could have occurred due to the aluminium becoming dirty and
irregular. The error associated with this was minimised by wiping down the auminium
regularly with a damp cloth and leaving it to dry. The deviation scale was sticky taped onto
the aluminium surface, so this could have interrupted the most of the magnet just before it
crossed the deviation scale. This error was minimised by ensuring a single piece of sticky tape
ran across the front edge of the scale and was pressed flat against the aluminium. A hand was
placed on the ramp after each trial to ensure any residual currents in the aluminium were
removed. The same precautions and error minimising steps were taken in this experiment as
In experiment one.

3.34 Conclusion

The results support the hypothesis in saying that a magnet deviates to a greater extent on an
aluminium plane than a wooden plane due to eddy currents created in the aluminium. These
eddy currents oppose the motion of the magnet, causing it to roll down the ramp at a slower
speed than on awooden incline.

3.4 Investigation into motion near the edge (qualitative)

If the plane is aigned with the North-South field lines, the magnet still exhibits turning
behaviour due to the eddy currents present in the aluminium. However, as the magnet
approaches the edge of the aluminium, there are only eddy currents on one side of the magnet.
This results in the magnet travelling back into the middle of the aluminium.

4  Conclusions

4.1 Conclusions for nonconductive planes

The magnet deviation depends on which way the poles are orientated due to interaction with
the Earth’s magnetic field. The larger the angle of the plane, the higher the deviation of the
magnet.

4.2 Conclusions for conductive planes

When a magnet rolls down an aluminium plane, eddy currents are created in the aluminium
which oppose the magnet's motion down the plane. When super magnets roll down an
aluminium plane, the eddy currents are stronger which produces a stronger correcting force.
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